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Central Teacher Eligibility Test (CTET) 2021
Junior Level (Class VI-VIII)
Solved Paper with Explanation

(Exam Date : 21.01.2022)

PART-I
Child Development and Pedagogy

1. Assertion (A): It is important to focus on the
development of children from infancy to
adolescence.

Reason (R): Even though the first few years of

life are significant for development, from the

point of view of brain plasticity, the whole of

childhood and adolescence is a sensitive period.

Choose the correct option.

(a) Both (A) and (R) are true and (R) is the

correct explanation of (A).
(b) Both (A) and (R) are true but (R) is not the
correct explanation of (A).

(c) (A) is true but (R) is false.

(d) Both (A) and (R) are false.
Ans. (a) : Both (A) and (R) are true and (R) is the
correct explanation of (A) because the most important
phase of life is the first few years when you are a child.
That's when the brain grows really fast- faster than any
other time in our life. The brain makes (more than 1
million) new connections every seconds. Adolescence is
the period of transition between childhood and
adulthood. Children who are entering adolescence are
going through many changes. So, it is important to
focus on the development of children from infancy to
adolescence.

2. Which of the following statements
socialization is correct ?

(a) Families and schools are major contributors
to socialization but there are other agencies
such as media and peers who have an
important role.

(b) Schools are the primary
socialization of children.

(c) Media is not a very significant agency of
socialization of children.

(d) Religious institutions do not play any role in
socialization of children.

Ans. (a) : Socialization is the process by which children
are prepared to become successful members of society.
This requires the learning of skills, behavior patterns,
ideas, and values needed for competent functioning in
the society in which a child is growing up. Families and
schools are major contributors to socialization but there
are other agencies such as media and peers who have an
important role.

3.

about

agency of

In a progressive classroom, stress needs to be
placed on creating an atmosphere where

(a) emotional needs of students are taken care of

and they feel valued.

(b) stress is placed on 'performance goals' and
achievement in tests directs teacher's
perception of students.

(c) the teacher leads and children follow
passively.

(d) students are expected to 'learn for exams'.
Ans. (a) : John Dewey, an American philosopher has
proposed the concept of 'progressive education' which
emphasizes that learning takes place only through
'hands-on' approach so the students must interact with
their environment to adapt and learn. Stress needs to be
placed on creating an atmosphere where emotional
needs of students are taken care of and they feel valued.
4. A child is shown a 3D model of three

mountains. Another person is looking at the

model from a different position. The child is

asked to depict the other person's view of the

model but is unable to do so correctly.

According to Jean Piaget, this is illustrative of

(a) egocentricism

(b) animism

(c) object performance

(d) Hypothetical thinking
Ans. (a) : According to Jean Piaget, this is illustrative
of egocentricism. Egocentricism refers to the child's
inability to see a situation from another person's point of
view. The egocentric child assumes that other people
see, hear and feel exactly the same as the child does. In
the developmental theory of Jean Piaget, this is a feature
of the preoperational child.

5. Jean Piaget proposed that children's thinking is
that of adults.
(a) not different from
(b) qualitatively different from
(c) quantitatively different from
(d) quite similar to

Ans. (b) : Swiss psychologist Jean Piaget (that's Jean as
in French for 'John') carried out some remarkable
studies on children that had a powerful influence on our
theories of child thought. He argued that children's
thinking is qualitatively different from the thinking of
adults. Piaget realized that older children were able to
answer more questions on the same test. Also, there
were qualitative differences between the answers and
the logic that the older children applied, but they are not
qualitatively different.
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6. Lev Vygotsky referred to the difference
between what a child can do on his own and
what can be accomplished with some assistance
as:

(a) intelligence
(b) zone of proximal development
(c) scaffolding
(d) adaptation

Ans. (b) : The Zone of Proximal Development (ZPD)

was a key construct in Lev Vygotsky's theory of

learning and development. The Zone of Proximal

Development is defined as the space between what a

learner can do without assistance and what a learner can

do with adult guidance or in collaboration with more
capable peers.

7. Pedagogical strategy of 'Reciprocal teaching' is
based on
(a) Behaviouristic principles
(b) Socio-cultural approach
(¢) Information processing theories of learning
(d) Howard Gardner's construct of multiple
intelligences.

Ans. (b) : Reciprocal teaching refers to an instructional
activity in which students become the teacher in small
group reading sessions. Teachers model, then help
students learn to guide group discussions using four
strategies : summarizing, question generating, clarifying
and predicting. Reciprocal teaching is a cooperative
learning strategy is based on socio-cultural approach
looks at how a person's experiences, influences and
culture help shape why they act the way they do.

8. Responding to 'Heinz Dilemma' Roohi says,
'stealing the drug is wrong under any
circumstance because it is wrong to steal'.
According to Lawrence Kohlberg's Theory of
Moral Development, Roohi is at

(a) Pre  conventional level;  Punishment
Obedience Orientation

(b) Pre conventional level, Personal-reward
Orientation

(c) Conventional level;, Law and Order
Orientation

(d) Post conventional level; Social-contract
Orientation

Ans. (¢) : According to Lawrence Kohlberg's theory of]
moral development, Roohi is at conventional level of|
law and order orientation. Kohlberg's theory proposes
that there are three levels of moral development, which
each level split into two stages.
Stage 4 : The law and order orientation. The individual
is oriented toward authority, fixed rules, and the
maintenance of the social order. Right behavior consists
in doing one's duty, showing respect for authority, and
maintaining the given social order for its own sake.
9. What does ‘'interpersonal intelligence' in
Howard Gardner's theory of Multiple
Intelligences mean?
(a) Ability to discriminate complex inner feelings
and to use them to guide one's own behaviour.
(b) Ability to detect and respond appropriately to
the moods, temperaments, motivations and
intentions of others.

(c) Ability to use the body skillfully for
expressive as well as goal-directed purposes.
(d) Ability to perceive the visual-spatial world
accurately.
Ans. (b) : Howard Gardner gave different types of]
intelligences (logical, visual, musical etc.). Interpersonal
intelligence is the capacity to understand the intentions,
motivations, moods, temperaments and desires of other
people and consequently to work effectively with others.

10. National Education Policy 2020 proposes
inclusion of _ and for assessment of
children.

(a) group work; self-assessment

(b) projects; standard tests

(c) standard tests; portfolios

(d) norm-referenced; criterion-referenced tests

Ans. (a) : NEP (2020) proposes inclusion of group
work and self assessment for assessment of children. It
is true that 360-degree assessment also includes self]
assessment and peer/group assessment, and progress of
the child in project-based and inquiry-based learning,
quizzes, role plays, group work, portfolios etc., along
with teacher assessment.

11.  For the purpose of comprehensive assessment,

a teacher should :

(a) consider scores based on correct answers on a
quiz.

(b) consider only the errors made by children.

(c) consider outcome as well as process of
learning for students.

(d) use standardised tests for all students.

Ans. (¢) : The purpose of comprehensive assessment
system is to increase student learning by producing
actionable data, evaluate the effectiveness of programs
and ensure that all students are making progress towards
achieving learning goals. For the purpose of]
comprehensive assessment, a teacher should consider
outcome as well as process of learning for students.

12. In many cases, young girls rather than boys are
expected to perform household chores and
sibling care in the absence of their mothers.
This is an example of .

(a) gender stereotype  (b) gender equity
(c) gender equality (d) gender relevance
Ans. (a) : Gender stereotypes are the psychological
traits believed to be more characteristic of one sex
relative to the other. These stereotypes are closely
related to sex role ideologies and they have often been
used to account for variations in sex role ideologies
across cultures. In many cases, young girls rather than
boys are expected to perform household chores and
sibling care in the absence of their mothers. This is an

example of gender stereotype.

13.  Which of the following is not a characteristic of
progressive education?
(a) Focus on continuous and comprehensive
evaluation
(b) Encouraging rote memorisation
(c) Emphasis on collaborative learning
(d) Promoting lifelong learning
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Ans. (b) : Progressive education is a response to
traditional methods of teaching. It is defined as an
educational movement which gives more value to
experience than formal learning. It is based more on
experiential learning that concentrate on the
development of a child's talents. Progressive education
focus on continuous and comprehensive evaluation,
emphasis on collaborative learning, promoting lifelong
learning, but it is not encourage rote memorisation.

14. Which of the following statements about
language and thought is correct from a
Vygotskian perspective ?

(a) Language facilitates development of higher

mental functions.
(b) Language hinders development of congnitive

faculties.

(c) Language dose not play any role in congnitive
development.

(d) Thought occurs independent of language
development.

Ans. (a) : In Vygotsky's perspective, language plays a
central role in the theory of human cognitive development.
Language plays multiple roles including cultural shaping
the event behavior of individuals as well as influencing
their covert behavior, such as thinking.

According to Vygotsky, thought and language is
interdependent processes, from the beginning of life.
The acquisition of language by the child modifies its
higher mental functions : it gives a definite shape of
thought, enables the emergence of imagination, memory
usage, and action planning.

15. A teacher encourages children to talk to their
elders and members of community to learn
about their heritage.

Choose the set of options that indicate teacher's

belief about socialisation and learning .

@) Recognising the importance of
knowledge that children gain through
community.

Understanding that learning takes place

in a social context and it is important to

connect with it.

(iii) Importance of linking school knowledge

with local knowledge.

(iv) Giving more importance

knowledge.

(a) (i) only (b) (ii) and (iii) only

(c) (i), (ii) and (iii) (d) (1), (ii),(iii) and (iv)
Ans. (¢) : A teacher encourages children to talk to about
their elders and members of community to learn their
heritage to recognising the importance of knowledge
that children gain through community, to understanding
that learning takes place in a social context and it is
important to connect with it, and importance of linking
school knowledge with local knowledge indicate
teacher's belief about socialisation and learning.

16. Mathematical disorder in context of 'Learning
disability' is referred to as .
(a) Dyspraxia (b) Dyslexia
(c) Dyscalculia (d) Dysgraphia

(i)

to school

Ans. (¢) : Dyscalculia is a learning disability in math.
People with dyscalculia have trouble with math at many
levels. They often struggle with key concepts like
bigger vs. smaller. And they can have a hard time doing
basic math problems and more abstract math.

17. Salma, a 5-year-old girl, started playing the
musical instrument Guitar without any outside
instruction when she was 3 years old. This
talent would characterizes her as a
(a) slow learner (b) child with low IQ
(c) gifted (d) Autistic

Ans. (¢) : Gifted children are born with natural abilities

well above the average for their age. Gifted child, any

child who is naturally endowed with a high degree of]

general mental ability or extraordinary ability in a

specific sphere of activity or knowledge. For example —

Salma, a 5-year-old girl, started playing the musical

instrument Guitar without any outside instruction when

she was 3 years old. This talent would characterizes her
as a gifted.

18. Hardik has low vision. The teacher has not
been informed of his condition. Which of the
following actions in class can indicate the
teacher that he has low vision?

(a) Squinting of eyes while reading

(b) Standing far away from the blackboard to
read it clearly

(c) completing worksheets with fine print quickly

(d) reading physical maps which have minimum
details

Ans. (a) : Squinting the eyes while reading shows the

low vision. If you find yourself squinting a lot, there's

probably a reason for it. It's likely that you have a

refractive error (near sightedness or far sightedness) and

need glasses or a new prescription.

19.

A teacher can create a conducive classroom

environment for learners with disability by:

(a) creating strong expectations that they follow
rigid curriculum.

(b) taking all decisions for them independently
without consulting the child.

(c) ensuring that they are assessed through
standardized assessment parameters.

(d) making reasonable and appropriate curricular
accommodations.

Ans. (d) : A teacher can create a conducive classroom
environment for learners with disability by making
reasonable and appropriate curricular accommodations.
Promote positive interaction amongst your students.
Allow them to share their feelings, and encourage them
to listen to each other, give compliments, express
gratitude and practice problem solving together. As a
teachers, can present topics and help initiate
discussions, but then let students guide the
conversations.

20.

Assertion (A): Inclusive education does not
include children with 'giftedness’.

Reason (R): Inclusive education functions on
'deficit' perspective only.

Choose the correct option.
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(a) Both (A) and (R) are true and (R) is the
correct explanation of (A)
(b) Both (A) and (R) are true but (R) is not
correct explanation of (A)
(c) (A)istrue (R) is false.
(d) Both (A) and (R) are false.
Ans. (d) : Both (A) and (R) are false, because inclusive
education means education for all children (general and
specific students) in school. It refers to the inclusion of]
all children in the education system, regardless of their
differences and disabilities. There are two distinct
perspectives on inclusive education. First, emerging
largely from the developed countries, and the second,
owing to the felt need and circumstances prevailing in
the developing world. In richer developed countries,
education is largely inclusive of girls, the disadvantaged
and the ethnic groups.

21. Which of the following characterizes a
metacognitive skill?
(a) Rote memorization of content without
engagement

(b) Imitating the behaviour of others

(c) Thinking about one's own thinking processes

(d) Describing the procedure of preparing a

particular dish

Ans. (¢) : Metacognitive skills means that they are able
to recognize their own cognitive abilities, direct their
own learning, evaluate their performance, understand
what caused their successes or failures and learn new
strategies. It can also help them learn how to revise.

22. A teacher encourages his/her students to make
concept maps after teaching a topic. This would
be helpful in
(i) conducting formative assessment.

(ii) testing the capability of students to
summarize the main points.

(iii) developing rubrics to evaluate the level
of the students.

(iv) testing the artistic ability of students.

(a) (i),(i1)and (iii) (b) (i) and (iv)

(c) (ii),(iii) and (iv) (d) (ii) and (iv)

Ans. (a) Concept maps include graphical and

diagrammatical representations to illustrate the

meaningful acquisition of various sub-topics of a
concept. A teacher is using a concept map to enhance
the spatial ability of the learner so that she/he can see
the complete unit as a whole. Concept map would be
helpful in conducting formative assessment, testing the
capability of students to summarize the main points,
developing rubrics to evaluate the level of the students.

23.

Primary school children learn most effectively

in an atmosphere where

(a) the teacher is authoritarian and always
dictates what should be done.

(b) the teacher leads all the learning and students
are expected to be passive.

(c) where the main stress is on mastery of
reading skills and achievement of 'marks'

(d) where the socio-emotional needs for the
children are taken care of.

Ans. (d) Primary school children learn most
effectively in an atmosphere where the socio-emotional
needs for the children are taken care of. Young children
acquire social and emotional skills, such as regulating
emotions, sharing with others and following
instructions. These skills lay the foundation for
developing literacy, numeracy and other cognitive
abilities that are critical for success in school and life.

24, example of

is an effective
classroom practice.

(a) Use of rewards and punishment

(b) ‘Competitive’ classroom

(c) Comparative evaluation

(d) Collaborative learning

Ans. (d) : Collaborative learning is an umbrella term for
a variety of educational approaches involving joint
intellectual effort by students, or students and teachers
together usually, students are working in groups of two
or more, mutually searching for understanding,
solutions or meanings, or creating a product.

25.  Which of the following is an example of
intrinsic motivation?
(a) A student is doing an experiment to get good
grades
(b) A student is doing experiment because he is
curious about the result of experiment.
(c) A student is doing experiment because he
does not like theory class.
(d) A student is doing experiment because he
wants to impress his teacher.
Ans. (b) : Intrinsic motivation is defined as the doing of
an activity for its inherent satisfaction rather than for
some separable consequence. When intrinsically
motivated, a person is moved to act for the fun or
challenge entailed rather than because of external
products, pressures or rewards. A student is doing
experiment because he is curious about the result of]
experiment is an example of intrinsic motivation.

26. Which of the following scenario exemplifies
constructivist pedagogy?

(a) Students listen to the teachers and take notes
on the content covered.

(b) Students repeat aloud long passages to
memorize them.

(c) Students learn the material in their text books
and take tests covering the content at the end
of the year.

(d) A teacher presents his students with a
contemporary issue, on which they discuss
and debate.

Ans. (d) : A teacher presents his student's with a
contemporary issue, on which they discuss and debate
this scenario exemplifies constructivist pedagogy. The
constructivist pedagogy is thought of as the creation of
classroom environments, activities, and methods that
are grounded in a constructivist theory of learning, with
goals that focus on individual students developing deep
understandings in subject matter of interest and habits
of mind.
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27.  Which of the following attitude is best suited to

positive group dynamics within the classroom ?

(a) Laying down strict external rules prohibiting

group interaction.

(b) Dividing the class into permanent 'ability

based' sub groups for easy functioning.

(c) Encouraging all students in class to dialogue

and collaborate for problem solving.

(d) Encouraging competition between groups to

enhance performance.

Ans. (¢) : Encouraging all students in class to dialogue

and collaborate for problem solving is best suited to

positive group dynamics within the classroom. This
form of change of behavior of students is called group
dynamics because of their contact with group members. If|

a teacher organizes a collaborative project activity on every

subject in classroom, the teacher formulates various groups

and offers them activity/work for the project.

28. A metaphor of 'Jug and the mug' is often used
to depict how traditional education views
teacher as a big jug pouring knowledge into the
mind of a student depicted by a smaller mug.
This kind of understanding is problematic
because:

(a) Students carry valuable experiences with
them and learning is constructed with their
active participation with teacher and peers.

(b) Students are naive and they can't learn
anything without the teacher.

(c) There is no need of any content or teacher in
the process of learning.

(d) Learning happens best if children listen to the
teacher passively.

Ans. (a) : This kind of understanding is problematic

because students carry valuable experiences with them

and learning is constructed with their active participation
with teachers and peers. As in the traditional processes of]
teaching, the teacher was only actively participating and
the children used to remain passive. The whole process of]
teaching was centered around the teacher. The 'Jug and

Mug model', is the traditional way of teaching in

classrooms, as it is a one-way process.

29.  Errors in children's work:
(a) confirms their intellectual inferiority over
others.
(b) definitely confirms the lack of preparedness
on part of teacher.
(c) should be ignored by the teacher to avoid
disappointment among children.
(d) should be thoroughly analyzed by the teacher
and discussed with children.
Ans. (d) Errors in children's work should be

thoroughly analyzed by the teacher and discussed with

children. When a learners can't master a topic, he/she is

vulnerable to make errors. Errors are nothing but

incorrectness made by a child during learning.

e [talso takes place due to the mismatch in previously
assimilated and the newly accommodated
knowledge.

e FErrors are a significant step in the teaching learning
process.

e FErrors are necessary in the learning process to give
insight into children's thinking.

30. Which of the following can enhance critical

thinking in middle school students?

(a) Asking students to read the textbook on their
own and avoid discussion with peers

(b) Asking students to discuss topics in groups
and come up with questions.

(c) Presentation by the teacher using lecture
method.

(d) Giving students homework to write the
answers to recall the questions given at the
end of the textbook.

Ans. (b) : Critical thinking in middle school students can
enhance by asking students to discuss topics in groups and
come up with questions. You can get middle schoolers to
develop their critical thinking skills by inviting discussions
on everyday situations. For instance, analyze points of]
view and persuasion methods employed in advertisements
in print and on TV. Classroom discussions of historical
figures can cause students to question their presumptions.

PART-II
MATHEMATICS AND SCIENCE

31.

The sum of squares of distinct common prime
factors of 120, 210 and 330 is
(a) 34 (b) 38
(c) 39 (d) 46
Ans. (b) : The Prime factors of given numbers are-
120=2x2x2x3x5
210=3x7x2x5
330=2x3x5x11
Common factors are =2 x 3 x 5
Sum of squares of common factors = 2> + 3% + 5% = 38

32.  If the 9-digit number 985x3678y is divisible by
72, then what is the value of (3x + 2y) ?
(a) 16 (b) 18
(c) 20 (d) 24
Ans. (¢) : Since the given number is divisible by 72. It
must be divisible by 4, 8 and 9.
Since it is divisible by 4 therefore last two- digit must
be divisible by 4. So possible value of y are 0, 4, & 8
since it is divisible by 8 therefore last three digit must
be divisible by 8.
985x3678y=9+8+5+x+3+6+7+8+y

=46+x+y
=46+x+4
=50+x
For x = 4 the value is
=50+4

54 which is divisible by 9

x=4

y=4

Gx+2yy Ll 1)

Putting the value of x and y in equation (i)
(B3x4+2x%x4)=20
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33.  The value of

111+91x20l
5 3 6

1

18
1 1

80

(@)

©

Ans. (a) :

111+9l><20l
5 3 6

12 7 1
—_—— = +7 —

137573
%28 121

5 3 6

288 —-130+84

180
121

5
242 5
=X —
180 121
L
18

34. If 3.4+2.025+9.36-3%(4.1003) =3 —p,

what is the value of p ?
(a) 0.4741 (b) 0.4841
(c) 0.5159 (d) 05249
Ans. (¢) : 3.4 +2.025 +9.36 -3 x (4.1003) = 3—p
3.4+2.025+9.36 - 12.3009 = 3—p
14.785 -12.3009=3 —p
2.4841 =3-p
p=3-2.4841
p=0.5159
What is the sum of the cubes of the integers
lying between — 5 and 6?
(a) 120 (b) 125
(c) 210 (d) 216
Ans. (b) : The numbers lying between — 5 and 6 are
-4,-3,-2,-1,0,1,2,3,4,5
Now cubes of each of these numbers are —
4’ =— 64
-3'=-27

then

3s.

2°=-8

—1P=-1

-0°=-0

=1

2°=38

3°= 27

4 =64

5 =125

Now adding all cubes—
(—64) + (27) + (-8)+ (1) + 0+1 +8 + 27 + 64 + 125
=125

36. If 0.000001275 = k x 1077 , then the value of

gis
(a) 1.55 (b) 2.55
(c) 12.75 (d) 15.5
Ans. (b) : 0.000001275 =k x 107’
0.000001275
107

k =0.000001275%107
k=12.75

Kk =

Then,
12.75

s
=2.55
If x is added to each of the numbers 5, 11, 3 and
8, the number, so obtained in this order, are in
proportion. What is the value of

N(x+2)(4x-3) ?

k
5

37.

(a) 12 (b) 15
(c) 20 (d) 30
Ans. (b) : According to the question,
X+5 x+3
x+11 x+8

x+8) (x+5)=(x+3)(x+11)
x> +5x+8x+40=x" +11x+3x +33
13x +40 =14x+33
x=17
Then /(x +2) (4x —3) = /(7+2)(4x7-3)

= 9x25 =3x5=15

An article is marked 25% above its cost price.
If a discount of 25% is given on the marked
price, then there is a

38.

(a) aloss of 5%% (b) aloss of 6%%

(c) a gain of 6%% (d) no gain no loss

Ans. (b) : Let C.P. be %100
Then MP =%125
Discount = 25%

P 125%x75
100
SP =%93.75
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CP-SP (a°—b’)=(a+b)(a—b)
Loss% = P x100 > (a+b+tc—-a-c+d)(a+tb+c+tatc—-d)
100-93.75 :(b+d) (2a+20+b—d)
=~ 100 One of the factor of given equation="b + d
1 43. If AABC = A FED, then
=6.25% or 6—% (a) AB=DE (b) BC=FE
— 4 — (¢c) /B=/E (d) £C=/F
+ -—
39. If X —4x=1- X , then the value of (7x ||Ans. (¢) : .
-8)is
(a) —1 (b) 6
(c) —1‘ 5 (d) 13 B & B 5
Ans. (b) : Given,
3X+10—4x—1—5X_4 If AABC 2 AFED then,
2 6 LA =/F AB=FE
3x+10—8x:6—5x+4 /B=/E BC=ED
2 6 Z£C=/D AC=FD
10— 5% = 10-5x
TOX= 44. In AABC, £ZB = 90°, AC = 169cm, and BC =
120 cm. The length of AB (in cm) is
30-15x=10-5x
10x = 20 (a) 109 (b) 121
x=2 (c) 119 (d) 123
So, (7x—8)=7(2)-8=6 Ans. (¢) :\
40. Let P =10x* — 8y’ +5xy '
Q=12xy +10y? +3x* ) il
And R =8y’ —3x” +4xy -
Then, (P-Q) +R = 120 cm
(a) 4x>+10y°-3xy  (b) 4x*—10y> —3xy By the Pythagoras theorem—
, , , R AC?= AB® + BC?
(c) 4x” —10y" +7xy (d) 4x”-26y —1llxy (169)2 = x> + (120
Ans. (b): (P-Q)+R x> = (169)* — (120)*
= (10x* — 8y” + 5xy — 12xy — 10y” - 3x%) x> = (169+120)(169-120)
+8y” - 3x* + 4dxy x> = 289x49
= (7x* — 18y* — Txy) + 8y* - 3x* + 4xy x=17x7
= 4x* - 10y* - 3xy x=119 cm.
41. If x=-2,y=3,andz=-3, then what is the |45. Which of the following is not true?
a) A right triangle can have at most one line of
value of y’x’ +2y* —3x’y’ +4xyz ? @ sym?netry £
(a) —36 (b) 54 (b) A parallelogram has no line of symmetry
(c) 36 (d) 54 (c) A circle has only one line of symmetry
Ans. (b) : Given, (d) A rhombus is symmetrical about its diagonals
x=-2 Ans. (c¢) : The option (c) is not true among the given
y=3 options.
z=-3 A circle has its diameter as the line of symmetry and a
Then y*x* + 2y° — 3x’y*+ 4xyz circle can have an infinite number of diameters. Hence a
=32 (=2) +2(3)* = 3(=2)?3*+ 4 (-2) x 3 (-3) circle has infinite lines of symmetry, whereas the
=9x(-8)+2x27-3x4x9+72 statements of all other options are true.
=-72+54-108 + 72 46. InAABC,ZA =(2x-5)°,/B=(5x+5)° and
=-54 ZC=(3x+50)°. Side BC is produced to D and
42.  One of the factors of CE is the bisector of ZACD. The measure of
(@a+tb+c)f—(a+c—d)is ZECD is
(A b+ec (b) 2a+b+c—-d R 1,
() b+d (d) 2a-b+2c—d (a) 45 (b) 45
Ans. (¢) : (a+b+c)* — (a+c—d) o 1,
Formula— () 44 (d 445
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Ans. (b) : Given,
ZA=(12x-5)",4B=(5x+5)°
and ZC=(3x +50)°

Sum of angles of triangle is 180°

Hence ZA+/B+2C=180°
2x—-5+5x+5+3x+50=180°

10x =180 —50
10x = 130°
Now,

ZA=2(13)-5=2I°
ZB=5(13)+5=70°
Z£C=3(13)+50 =89°

In triangle sum of two apposite interior angle is equal
to exterior angle

ZACD =ZA+ /B
ZACD=21+70=91"

Therefore, ZECD =91/2 or 45%0.

(a) 528
(c) 616
Ans. (¢) : Given,
Volume of a right circular cylinder = 7392cm’,
height = 12cm,
22
= 22
7
The volume of cylinder = nr’h
or

(b) 572
(d) 660

= area of base x height
7392 = area of base x 12
Area of base = 616 cm®

49. Water is pouring into a cuboidal reservoir at
the rate of 1200 liters per minute. The length,
breadth and height of the reservoir are 24 m,
18 m and 10 m respectively. The number of
hours, it will take to fill the reservoir, is
(a) 45 (b) 50
(c) 56 (d) 60
Ans. (d) : Given

length =24 m

breadth = 18m

height = 10 m

rate = 1200 liter/minute
Volume of reservoir = length x breadth x height

=24 x18x 10

47. ABCD is a trapezium in which AB || DC. The
ratio of AB to DC is 2:1, and the distance
between AB and DC is 20cm. If the area of the
trapezium is 720cm’, then the length of AB is
(a) 36 cm (b) 42 cm
(c) 48 cm (d) 54 cm

Ans. (¢) :

D C
Z 20
A B
Given ratio AB = 2 = 2%
1 x

Area of trapezium

% x Sumof parallel sidex (Distance between parallel sides)

720 :% xSum of parallel sides x20

Sum of parallel side i.e. AB + DC =72
2x +x =172
3x=72
x =24

AB=2x=2x24=48 cm.

48.

The volume of a right circular cylinder is 7392
cm’ and its height is 12 cm. The area (in cmz) of

V=4320m’
The number of hours, it will take to fill the reservoir
_ Volume
Rate
B 4320
1200x107° x 60
= 60 hours.
What is the mean of the range, median and
mode of the data given below?
18,7,5,10,8, 12, 6,8, 12, 14, 8, 18, 15,9, 6
(a) 9 (b) 95
(c) 10 (d) 10.3
Ans. (¢):18,7,5,10,8,12,6,8, 12, 14, 8,18, 15,9, 6
Rearranging in increasing order—
5,6.,6,7,8,8,8,9,10, 12, 12, 14, 15, 18, 18
Here most frequent data is 8
mode = 8
total no of term in given data

n= 15 (odd)

. n+1\"
Median = T

(15+1Y"
2

50.

=8" term
Median=9
Now Range = Maximum value- Minimum value
=18-5

22
its base is (take © = 7 )

Range = 13
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Mean of Range, Mode and Median
_ Range+Mode+Median
3

:8+9+13

3
=10

51.

Which of the following is the most appropriate

strategy for introducing the concept of

multiplication of two fractions in the middle

school?

(a) The algorithm should be used to introduce the
concept.

(b) The process should be visually represented.

(c) Multiplication as repeated addition should be
emphasised.

(d) Multiplication as inverse of division should
be emphasized.

Ans. (b) : Most appropriate strategy for introducing the

concept of multiplication of two fractions in the middle

school is that it should be visually represented.

o Multiplication as repeated addition become difficult

for fraction and decimal numbers.

e Algorithm are used for a highly complicated and

upper level calculations. Multiplication is basic scenario

of mathematics.

o Visual representation are used in mathematics to help

students solve problem and understand abstract ideas.

52.  Which of the following would NOT qualify as a

higher aim of teaching mathematics?

(a) To help students understand the

structure of mathematics

(b) To enable students to identify relationships

(c) To train students in mechanical calculations

(d) To enable students to handle abstractions
Ans. (c¢) The aim of teaching and learning
Mathematics are to encourage and enable student to
recognize that Mathematics permeates the world around
us, appreciate the usefulness power and beauty of]
Mathematics, enjoy Mathematics and develop patience
and persistence when solving problems. Mechanical
calculations undoubtedly is a part of mathematics but it
is not a higher aim. Its higher aim is to visualize the
practicability of mathematics in a world around us.

53. should teach

mathematics". What does this statement mean?

(a) Mathematics should be taught to only those
students who plan to pursue it in higher classes.

(b) Difficult concepts should be omitted for
disinterested students.

(c) Students should be provided with context
which highlights the need for mathematical
concepts.

(d) The concepts which are tested in year-end
examination must be taught in detail.

Ans. (¢) : In school curriculum, students should be
provided with context highlights the need for
mathematical concepts by which students can easly
understand the mathematical problem and solve them.

basic

“School curriculum important

54. Identify the correct statement from among the
following.
(a) Formal proofs are obtained only by inductive
reasoning.
(b) Hypotheses are always
through deductive logic.
(c) Conjectures have no role in construction of
mathematical knowledge
(d) Counter-examples are helpful in assessing the
validity of generalisations
Ans. (d) : The option (d) is the correct statement from
the following statements.
A counter example to an argument is a situation which
shows that the argument can have true premises and a
false conclusion. Counter examples are helpful in
assessing the validity of generalization.
55. Which of the following is an example of
mathematical modeling?
(a) Efficient usage of calculating devices.
(b) Setting up equations for a word Problem.
(c) Using mathematical ‘tricks’ to carry out long
calculations.
(d) Making models of 3-D shapes.
Ans. (b) : Mathematical modeling involves to setup
equations for a word problem.
Mathematical modeling is the process of describing a
real world problem in mathematical terms, usually in
the form of equations and then using these equation to
help understand the orginal problem.
56. For a triangle to be isosceles, which of the
following statements is true?
(a) “Two of its angles are equal” is a sufficient
but not necessary condition.
(b) “Two of its angles are equal” is a necessary
but not sufficient condition.
(c) “Two of its angles are equal”
necessary and sufficient condition.
(d) “Two of its angles are equal” is neither
sufficient nor necessary condition.
Ans. (¢) : In geometry an Isosceles triangle is a triangle

that has two equal sides and two equal angles.
-

formulated only

is both

A B
Consider the following statements.
Statement A: If n is even, n” is even.
Statement B: If n? is not even, then n is not
even.
Which of following statements is correct?
(a) B is contrapositive of A
(b) B s inverse of A
(c) Bisconverse A
(d) Bisreverse of A
Ans. (a) : Ifnis even, n’is even,
Suppose that even number is 2

n’=2"=4
= Satisfies the first statement
If n® is not even then n is not even number

57.

CTET Class (6 to 8) 2021 (Exam date 21.01.2022)

13

YCT




Let us take 9
(3)* = 9 is not even number

= Satisfies the second statement.
Hence, we can conclude that B is contrapositive of A.
58. Which of the following

true regarding ‘Geogebra’?

(a) Itis an application of geometry in algebra

(b) It is a branch of mathematics dealing with

geometry and algebra

(c) Itis a specialized topic in geometry

(d) Itis a software used in exploring geometry
Ans. (d) : Geogebra is a mathematics software for all
level of education that brings together geometry,
algebra, spreadsheet, graphing, statistics and calculus in
one easy to use package. Geogebra is a software used in
exploring geometry.
Geogebra is a rapidly expanding community of millions
of users located in just about every country.
59.

statements is

Which of the following statements is correct

regarding teaching-learning of mathematics?

(a) Medium of instruction impacts mathematical
understanding

(b) Gender impacts mathematical competency

(c) Teacher’s belief about learners does not
impact mathematical competency

(d) Mathematical ability is innate

Ans. (a) : Medium of instructions impacts mathematical
understanding is correct regarding teaching- learning of|
mathematics.

The role that language plays in the teaching and
learning of mathematics is one of some importance in
the current literature in mathematics education. As
children get older, language supports their ability to
learn, to identify and to understand the symbolic nature
of numerals.

60. Dyscalculia is characterized by
a. difficulty in understanding number concepts.

Ans. (a) : The pitcher plant has both autotrophic and

heterotrophic modes of nutrition. The pitcher plants

performs photosynthesis which make it an autotrophic

plant but it has also a partial heterotrophic mode of

nutrition because pitcher plants grow on nitrogen

deficient soil.

e Algae are a diverse group of aquatic organisms that
have the ability to conduct photosynthesis.

e Cuscuta (also known as dodder) is a genus of over 201
species of yellow, orange or red parasitic plant.

e Fungi are eukaryotic organisms that includes
microorganism such as yeast, mould and mushroom.
62. ‘72’ is a microorganism present in the
alimentary canal of human beings and other
animals which aids in digestion of food. What is

BZ’
(a) Bacteria (b) Virus
(c) Algae (d) Fungi

Ans. (a) : ‘Z’ is a bacteria present in the alimentary

canal of human beings and other animals which aids in

digestion of food.

These bacteria help your body to break down big food

molecules into useable components. The bacteria also

produce vitamin and help protect the body from

diseases. The whole population of bacteria in our bodies

is called the human microbiome. The relationship

between you and bacteria is symbiotic.

63. There are many steps involved in making wool

from sheep. Which of the following represents

the correct sequence of the steps?

(a) Shearing, scouring, sorting, dying, rolling into
yarn, weaving.

(b) Scouring, sorting, shearing, dying, rolling into
yarn, weaving.

(c) Sorting, scouring, shearing, rolling into yarn,
dying, weaving.

(d) Shearing, scouring, dying, rolling into yarn,
sorting, weaving.

b. lack of an intuitive grasp of numbers. Ans. (a) : The major steps necessary to process wool
c. inability to coordinate the verbal and spatial from L he sheep to the fabl_rlc are ‘shearn.lg, ‘cleamng gnd
aspects of numbers. scouring, gradlng and sorting, dying, spinning or rolling
A . into yarn, weaving and finishing.
d. inability to recognise alphabets. . -
(a) aand b (b) candd 64. Whlch‘ of the follow¥ng represents correct
(c) a, b, and ¢ (d) aand ¢ matching set of type of joints?
Ans. (¢) : Dyscalculia is a specific learning difficulty (A) ?all and socket (112 AT(Ilns and
characterized by a severe and persistent impairment in Jomn: — shourcers
Mathematics, including difficulties using number and (B) Pl_VOtal_J?mt (") Jaw
quantity, simple arithmetic and counting. Dyscalculia is (C) Hinge joint (iii) Neck
not the same as the ordinary experience of “being bad at (D) Fixed joint (iv) Elbow
math”. (a) A-(i), B-(iii), C-(iv), D-(ii)
Dyscalculia is characterized by = (b) A-(iii), B~(i), C~(i1), D-(iv)
(a) Difficulty in understanding number concepts. () A—(@i), B-(i.ii), C—.(.i), D‘(.i.\{)
(b) Lack of an intuitive grasp of numbers. (d) A-(iv), B-(i), C-(ii), D-(iii)
(c) Inability to coordinate the verbal and spatial aspect Ans (a) :
of numbers. (A) Ball and socket | (i) Arms and
61. ‘X’ is a plant which is an autotroph as well as a Joint - — sﬁf)ulders
heterotroph. What could ‘X’ be (B) P 1lvotal.3(.)1nt Q“) Neck
(a) Pitcher plant (b) Algae © Hlpge joint QY) Elbow
(c¢) Cuscuta (d) Fungi (D) Fixed joint (i1) Jaw
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65.  Which of the following statements is correct?

(a) The unfertilized egg has one chromosome

(b) The unfertilized egg has 23 pairs of
chromosome

(c) The unfertilized egg has one ‘X’ i.e. sex
chromosome

(d) The unfertilized egg has 22 chromosome

Ans. (c) : Unfertilized egg is female gamete which is
haploid. It contains one X chromosome i.e. sex
chromosome. The sperm contain either an X or a Y
chromosome. A male child (XY) is produced if the
sperm containing a Y chromosome fuses with the egg.
If the sperm containing an X chromosome fuses with
the egg, than a female child (XX) is produced.

66. ‘X’ and ‘Y’ are elements which are highly
reactive with air, hence stored in Kerosene.
What could ‘X’ and ‘Y’ be?

(a) Phosphorus and Sodium
(b) Phosphorus and Sulphur
(¢) Sodium and Potassium
(d) Sulphur and Potassium

Ans. (¢) : Sodium and Potassium are highly reactive
metals and react vigorously with the oxygen, carbon
dioxide and moisture present in the air such that it may
even cause a fire. To prevent this explosive reaction,
these elements is kept immersed in kerosene because
they doesn't react with kerosene.

67. ‘X’ is a synthetic fiber which resembles wool
and is used to make shawls and sweaters and
blankets. What could ‘X’ be?

(a) Rayon (b) Acrylic
(c) Nylon (d) Polyester

Ans. (b) : Acrylic is man-made fibre since, acrylic
resembles wool so it is also known as artificial wool or
synthetic wool. Acrylic is cheaper than natural wool and
can be dye in various colours. Thus acrylic is very
popular and taking the place of wool today. Acrylic is
used in making sweaters, blanket and other many
woolen clothes.

68. In which of the following situations, water
cannot be used to extinguish fires?
(A) electrical fire
(B) burning of wood
(C) burning of petrol
(D) burning of paper
(a) Aand B (b) Aand C
(c) Band D (d) Band C

Ans. (b) : ¢ Water is a good fire extinguisher. But water
can not be used to extinguish electrical fires. This is
because water is a good conductor of electricity. It can
cause electric shock and can harm the person who is
trying to put it off.

e We can not use water in case of oil fires. Oil floats
over water and thus oil fires cannot be extinguished by
using water. So situation A and C cannot be used to
extinguish fires.

69. A compilation of data on population status of
endangered species is

(a) Green data book (b) Brown data book
(c) Red data book (d) White data book

Ans. (¢) : IUCN Red list of endangered species is the
world most comprehensive inventory of the global
conservation status of plant and animal species. It uses a
set of quantitative criteria to evaluate the extinction risk
of thousands of species. The book containing this list is
called red data book. So A compilation of data on
population states of endangered species is red data
book.

70.

Metal ‘P’ displaces metal ‘Q’ from its salt

solution but is not able to displace metal ‘R’

from its salt solution. Identify the least reactive

metal.

(a) P

(®) Q

(o R

(d) Cannot be determined

Ans. (b) : Metal P displaces metal Q from its salt

solution so P is more reactive than Q

e Metal P can not displace metal R from its salt solution

so R is more reactive than P.

So reactive order is

R>P>Q

So metal Q will be the least reactive metal.

71. Shyama is standing 1m away from a plane
mirror and is observing her image. She takes
two steps backwards. What change would she
see in her image?

(a) The image increases in size but remains at the
same distance from mirror

(b) The image remains the same size but moves
further away from the mirror

(c) The image remains the same size but moves
closer to the mirror

(d) The image increases in size and moves further
away from the mirror

Ans. (b) : Plane mirrors: Plane mirrors are simply flat

mirror without curves. These are polished surface

coated with mercury such that they reflect most of the
light falling on them.

The distance of the image behind the mirror is the same

as the distance of the object in front of the mirror. From

the given situation we can conclude that the size of
image and object are equal and the distance of image

increases as the distance of object increases from a

plane mirror.

So, as Shayama takes two steps backwards then her

image remains the same size but moves further away

from the mirror.

72. A green cube with side of 0.25m, a red cube
with side of 0.35 m and a yellow cube having
side of 0.5 m are lying on a flat table. Which of
them would exert more pressure on the table
given that mass of all cubes is same.

(a) Green cube

(b) Red cube

(c) Yellow cube

(d) All will exert same pressure

Ans. (a) : Given the sides of cubes
Green Cube = 0.25m

Red Cube = 0.35m
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Yellow Cube = 0.5m
We know that pressure is inversely proportional to the
surface area of contact.
Therefore area of cubes = (side)’

Green cube, area = (0.25)* = 0.0625m’

Red cube, area = (0.35)* = 0.1225m’

Yellow cube area = (0.5)* = 0.25m’
Hence, pressure exert by green cube is more than other
cubes.

73.

Identify the

following.

(a) sound can travel through vacuum

(b) The higher the frequency of vibration, higher
is the pitch

(c) All vibratory motions are oscillations

(d) Sound in a flute is produced by the vibrating
air-column

Ans. (a) : A medium is required for transmission of

sound waves. Vacuum is an enclosed place in which

there is no molecules or matter. Therefore sound cannot

travel through vacuum where there is no molecule or

atom to induce vibrations.

74.

incorrect statement from the

Which of the following sets comprises liquids

which are good conductors of electricity?

(a) Lemon juice, vegetable oil, tap water

(b) Distilled water, shampoo, vinegar

(c) Lemon juice, vinegar, tap water

(d) Shampoo, vegetable oil, lemon juice

Ans. (¢) : Some liquids are good conductors of]

electricity and some are poor conductors of electricity.

e Most liquid that conduct electricity are solution of
acid bases and salts.

e The passage of a electric current through a
conducting liquid cause chemical reaction. The
resulting effect are called chemical effect of current

Example:- Lemon Juice, vinegar, tap water are good

conductor of electricity.

75.  Which of the following sets comprises physical

changes?

(a) Shredding of paper, baking a cake, bursting of
crackers

(b) Boiling of water, cooking of food, rusting of
iron

(c) Burning of paper, setting of milk into curd,
breaking a glass

(d) Breaking of glass, grinding wheat, boiling of
water

Ans. (d) : Physical changes are changes affecting the

form of a chemical substance, but not its chemical

composition.

Example: Breaking of glass, grinding wheat, boiling of

water.

e In chemical change the chemical composition of]
substance is changed.

76. Reva is driving from her office to her home.

Which is 22km away. She travels at a speed of

48km per hour for 10 minutes. She stops for 15

minutes at a market to buy some items. She

resumes her journey at a speed of 56 km per

hour. What is her average speed for the entire

journey?

(a) 33 km/h (b) 44 km/h

(c) 50 km/h (d) 52 km/h
Ans. (a) :

Distance travelled by Reva in 10 minutes
= 48x 10 8km
60

Remaining Distance i.e. 22 — 8 = 14 km, travelled by

Reva at a speed 56 km/h

Average speed = Total dls.tance
Total time

22km

10 h+ Eh + Eh
60 60 56

Which of the following will not be helpful in the

process of separating a mixture of chalk and

water?

(a) Filtration (b) Decantation

(c) Sedimentation (d) Sublimation

Ans. (d) : The mixture of chalk and water can be

separated by sedimentation, decantation or filtration

process.

e Sublimation is the transition of a substance directly
from the solid to the gas state without passing the
liquid state.

e Decantation is a process for the separation of mixtures
of immiscible liquids or of a liquid and a solid
mixture such as suspension.

78.  Given below are a few statements about the
phenomenon of shadow formation of an object.
Identify the correct statements.

(A) Size of shadow depends upon the distance
between light source and the object.

(B) Position of shadow depends upon the
direction of incident light.

(C) The colour of shadow depends upon the
colour of object

(D) Shadow formation can be explained on the
same concept as image-formation

(a) Aand B (b) Band C

(c) Cand D (d) Aand D

Ans. (a) : The phenomenon of shadow formation of an

object shows that—

e Size of shadow depend upon the distance between
light source and the object if the light source is near
the object then size of shadow will be short but the
light source is away from the object then side of]
shadow will be large.

e Position of shadow depends upon the direction of]
incident light

Example: If the source of light is infrant of object then

the shadow will be formed in backward.

If the source of light is in left of the object then the

shadow will be formed in right of the object.

So, statement A and B both are correct.

=33km/h

77.
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79. Identify the correct statements from among the

following

(a) The percolation rate of water in clayey soil is

higher than that of loamy soil

(b) The percolation rate of water in loamy soil is

higher than that of sandy soil

(c) The percolation rate of water in clayey soil is

same as that of sandy soil

(d) The percolation rate of water in sandy soil is

higher than that of clayey soil

Ans. (d) : Clay soil has very fine soil particles through

which water cannot be easily percolated whereas in

sandy soil, they have big soil particles so that water can
be easily filtered or percolated.

This is the reason why there is low percolation rate in

clay soil compared to sandy soil.

Hence, the percolation rate of water sandy soil is higher

then that of clayey soil.

80. ‘X’ is a vitamin which is fat soluble and helps
in keeping skin and eye healthy. ‘Y’ represents
food items rich in this vitamin. Identify ‘X’ and
GY!

(a) Vitamin D, Milk products
(b) Vitamin A, Citrus fruits
(c) Vitamin D, Citrus fruits
(d) Vitamin A, Yellow fruits

Ans. (d) : Vitamin A helps with the reproductive

process, growth and development. It also keeps eyes

and skin healthy and acts as an antioxidant.

Yellow fruits and vegetables in general are great sources of]

vitamin A and antioxidants that can combat certain kinds

of cancer and are good for the heart and eyes.

81. Which of the following
describes nature of science?
(a) Science is about appreciation of nature
(b) Science is an individual pursuit
(c) Science is value-free and objective to the core
(d) Science is a social endeavour

Ans. (d) : Science is a social endeavor because it

involves solution of various problem, satisfy various

needs and sustainable development of society with the
help of scientific knowledge.

82. What is the need for having a historically valid
science curriculum?

(A) It helps understand how social factors
influence the development of science.

(B) It helps the learner to view science as
infallible.

(C) It helps learners appreciate how the
concepts of science evolve with time.

(D) It helps to highlight achievement of western
countries in science.

(a) (A) and (B) (B) only (D)

(c) Only (B) (d) (A) and (C)

Ans. (d) : Historical validity requires that science
curriculum be informed by a historical perspective,
enabling the learner to appreciate how the concepts of
science evolve with time. It also help the learner to view
science as a social enterprise and to understand how
social factor influence the development of science.

statements best

83.  According to NCF 2005, the pedagogic practices
recommended at the upper primary stage are
(A) group discussion
(B) designing simple investigations
(C) verification of the theoretical principles
(a) (A)and (C) (b) (B) and (C)
(¢) (A)and (B) (d) only (C)
Ans. (¢) : According to NCF 2005, the pedagogic
practices recommended at the upper primary stage are
e Group discussion
e Designing simple investigations
84. From the following statements about science,
identify the one that is false.
(a) Scientific ideas are tentative.
(b) Technology has preceded science in the
history of civilization.
(c) The scientific method is the only guide for
conducting research.
(d) In science self-examination and skepticism is
important.
Ans. (¢) : When conducting research, scientists use the
scientific method to collect measurable, empirical
evidence in an experiment related to a hypothesis that is
designed to support or contradict a scientific theory. For
conducting research there can be various factors to
guide scientist, for example the needs of society,
correcting the wrong etc. Hence, scientific method is
not only guide for conducting research.

8s.

Ashu was given individual task of measuring

the body temperatures of at least five

classmates. Following are the task specific

indicators to assess Ashu.

Identify the undesirable indicator.

(a) Washes and wipes thermometer before use

(b) Jerks the thermometer to bring the level of
mercury below 35°c.

(c) Draws conclusion that temperature of every
person is exactly 37°c

(d) Show curiosity in finding information on how
to measure temperature in dogs.

Ans. (c) A thermometer is used to measure

temperature of a person. The normal body temperature

is 37°C but it is not necessary that every person have

same temperature since they may have fever or cold.

86.

A science teacher with in a constructivist

framework would be in agreement to all of the

following, except.__

(a) Learnes’s intuitive ideas always correspond
with scientific knowledge.

(b) Learners come from diverse backgrounds and
their perceptions and beliefs vary.

(c) Learners’ ideas that they bring to classrooms
are important.

(d) Learners’ ideas are resistant to change by
convertional teaching-learning.

Ans. (a) : A science teacher with in a constructivist

framework would be in agreement to all of the

following, except learnes’s intuitive ideas always

correspond with scientific knowledge. Ideas don’t

always shows scientific aspect, it shows the thinking

skills of person.
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87. To make your science classes more gender
inclusive you may do all of the following, except

(a) Challenging stereotypes

(b) Selecting activities that emphasize co-
operation and caring

(c) Teaching students to recognize gender
inequalities

(d) Encouraging girls to be more competitive that
boys.

Ans. (d) : To make your science classes more gender
inclusive you may do all of the following, except
encouraging girls to be more competitive that boys
since inclusive class itself means all student in same
class with equal teaching practices and upbringing the
other students to same level.

88. A teacher brought

into her classroom

1
Ekg flour, some warm water, sugar and yeast

and asked following questions, Identify the
questions that are divergent.
A) What do you think I am going to do with all
these things?
B) Will sugar dissolve easily in warm water?
C) Will yeast dissolve in water?
D) Name some of the eatables that are baked?
(a) Aand B (b) Band C
(c) Aand C (d) Band C
Ans. (a) : The divergent questions are questions with no
specific answer but rather exercises one's thinking
ability about the topic which is being taught.
So the teacher may ask the question-
(A) What do you think T am going to do with all these
things?
(B) Will sugar dissolve easily in warm water?
Note: A divergent question is a question with no
specific answer, but rather exercises one's ability to
think broadly about a certain topic.
89. The advantages of conducting field trips over
using educational software is that
(A) it involves all the senses.
(B) it can cater to large groups.
(C) it can be arranged easily and quickly
(D) it gives individual attention.
(a) Aand B (b) Cand D
(c) A,Band C (d) A,Band D
Ans. (a) : The advantages of conducting field trips over
using educational software is that it involves all the
senses and it can cater to large groups.
Field trip provides the student with the opportunity of
having first hand knowledge of happening in our
environment. It helps to generate and sustain student
interest in the subject.
90. What will be the sequence of your lesson
planning using inquiry approach?
(A) Provide plenty of time for discussions
before presenting the scientific terms

Ans. (d) : The sequence of the lesson planning using
inquiry approach is —
Stimulate students interest

\A

Provide plenty of time for discussions before presenting
the scientific terms

\

Give opportunity for applications of the concepts and

principles.
PART-III
LANGUAGE-I : ENGLISH

Question Number : (91 to 99)

Read the passage given below and answer the
question/complete the statements that follow with the
help of given options.

Our giant water tower was home to some big and
menacing honey free colonies. We made all efforts to
get rid of them for the safety of the human residents
of the colony.

Honey collectors were invited but were only able
to destroy a few hives. Actually they never wished to
get rid of all the honey trees honey was their
livelihood. Whenever we saw that honey collectors in
their loin-dhoti, jute ropes, leaf baskets and flaming
torches, the children would run home for fear of the
bees and hail the honey collectors for their bravery
from our balconies. For me as a kid bees did not
belong to the urban environment.

Decades later, a thousand kilometres from the
water tank, I accompanied honey collector deep into
the forest suits. Climbing up the trees, protected by
the bee suit, the collectors set to the task — they
extracted the honey chamber learning the hive intact.
A few days before the extraction, they had inspected
the hives to select those that looked full or healthy—
ensuring that honey extraction does not damage the
hives. This sustainable harvest ensured that the bees
were not destroyed and the collectors retired their
livelihood. For the biologist the bees belonged to the
wilderness.

In between the water tower and the forest lie our
gardens and fruit orchards. Here both humans and
bees meet more intimately. Here our relationship
with bees is give and take. They pollinate our flowers
and help our fruit trees to get laden with fruit.

91.

The writer of this article is a :

(a) Biologist (b) Photographer

(c) Honey collector (d) Bee keeper

Ans. (a) : The writer of this article is a biologist
because he says that for biologist the bees belonged to
the wilderness. And for him bees did not belong to the
urban environment.

Hence option (a) is correct.

(B) Stimulate students interest 92.  The topic discussed herein is :
(C) Give opportunity for applications of the (a) Fear of bees
concepts and principles (b) Honey extraction
(a) A,B,C (b) C,B, A (c) Bee keeping
(¢) C,A,B (d) B,A,C (d) Safety from bees
CTET Class (6 to 8) 2021 (Exam date 21.01.2022) 18 YCT




Ans. (b) The activities of honey extraction is
discussed in this passage. Writer shared the experience
of honey extraction with honey collectors.

Hence option (b) is correct.

93.  Study the following statements :
(A) Honey collectors cheated the residents of
the colony.
(B) Safety of the colony residents was
completely ensured.
(C) Hailing the honey collectors by the

residents was misplaced.
(a) (A)isright and (B) is wrong.
(b) (B) is right and (A) is wrong.
(c) (B) is right and (C) is wrong.
(d) (C)isright and (A) is wrong.
Ans. (a) : According to the passage, statement (A) is
correct.
Honey collectors cheated the residents of the colony as
honey was their livelihood but statement (B) and (C) is
incorrect.
Hence option (a) is correct.
94.  In the forest, the honey collectors :
(a) help pollinate the flowers
(b) carry flaming torches to distract the bees
(c) don't have to climb the trees
(d) collect more honey
Ans. (d) : According to the passage, In the forest, the
honey collectors collect more honey.
Hence option (d) is correct.
95.  Study the following statements :
(A) The trees are treated as a menace in the
cities.
(B) Man derives a double benefit from the
bees.
(a) (A) isright and (B) is wrong
(b) (B) is right and (A) is wrong
(c) Both (A) and (B) are right
(d) Both (A) and (B) are wrong
Ans. (¢) : Both (A) and (B) are right
Trees are treated as a menace in the cities as bees
belong to trees.
And Man derives a double benefit from the bees they
pollinate our flower and help our fruit trees to get laden
with fruit.
Hence option (c) is correct.
96. 'Only able to destroy a few hives' the word
opposite in meaning to 'destroy’ is :
(a) Enjoy (b) Enlarge
(c) Build (d) Occupy
Ans. (¢) : The word "destroy" means I8 h{AT|
Enjoy — 3TH& ol
Enlarge — faR &1
Build — 0T &
Occupy — o o

So, opposite of 'destroy' is build
Hence option (c) is correct.

(a) glowing (b) burning
(c) bright (d) shining
Ans. (b) : In the phrase "Smouldering torches"
"Smouldering" means "burning slowly with smoke but
no flame".
Hence option (b) is correct.
Smouldering means burning.
98.  This sustainable harvest ensured that the bees
were not destroyed.
The underlined clause is :
(a) Principal (b) Noun
(c) Adjective (d) Adverb
Ans. (b) : A noun clause is a dependent clause that
takes the place of a noun in the sentence. If a dependent
clause can stand in for a person, place or thing then it is
a noun clause.
In the given sentence— 'That the bees were not
destroyed' is a noun clause.
Hence option (b) is correct.
99. 'those that looked full' the underlined word is
a/an :
(a) Adjective (b) Adverb
(c) Pronoun (d) Preposition
Ans. (¢) : In the given sentence, "Those that looked
full", 'that' is a relative pronoun.
Relative pronoun connect
independent clause.
Hence option (c) is correct.
Question Number : (100 to 105)
Read the stanza given below and answer the
questions/complete the statements that follow
with the help of given options.
Fail I alone, in words and deeps?
Why, all men strive and who succeeds?
Saw other regions, cities, new,
As the world rushed by one either side.
I thought — All labour, yet no less
Bear up beneath their unsuccess.
Look at the end of work, contrast
The petty done, the undone vast,
This present of theirs with the hopeful past!
I hoped she would love me, here we ride.
100. The poet here is talking like a/an
(a) optimist (b) pessimist
(c) realist (d) indifferent person
Ans. (a) : The poet here is taking like an optimist as he
worries he has failed at love.
Hence option (a) is correct.
101. In line 3-5 the lover is :
(a) worried about his 'unsuccess'.
(b) trying to forget his loss in love
(c) enjoying his present
(d) Confused by the scene around
Ans. (¢) : In spite of lackylove's rejection poet is
enjoying his present as he says— "This present of theirs

dependent clauses to

97. And ‘'smouldering torches' the word with hOPeﬁll past..
'smouldering' here means : Hence option (c) is correct.
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102. Study the following statements :
(A) All those who are hopeful achieve success
at the end.
(B) Everyone makes an attempt but very few
succeed.
(a) (A)isright and (B) is wrong
(b) (B) is right and (A) is wrong
(c) Both (A) and (B) are right
(d) Both (A) and (B) are wrong
Ans. (b) : Statement (B) is right but (A) is wrong.
Poet says that, all men strive but who succeeds? It
means that everyone makes an attempt but very few
succeed.
Hence option (b) is correct.
103. Choose the correct statement :
(a) The poet fell in love and succeeded
(b) His beloved did not like his looks
(c) The poet did not propose properly
(d) She had a soft heart
Ans. (d) : According to the poet, alternatives (a), (b)
and (c) are not correct but (d) "she had a soft heart" is
correct.
Hence option (d) is correct.
104. 'It seemed my spirit flew.' The figure of speech
used in the expression is :
(a) Simile (b) Imagery
(c) Metaphor (d) Hyperbole
Ans. (b) : In the given line "It seemed my spirit few"
poet feels his spirit is flying.
There is imagery in this line. Imagery can be defined as
a writer or speaker's use of words or figures of speech to
create a vivid mental picture or physical sensation.
105. 'As the world rushed by on either side' the
figure of speech used in the expression is :
(a) Simile (b) Metaphor
(c) Personification (d) Hyperbole
Ans. (¢) : There is personification (figure of speech) in
this line.
Personification is when you give an object or animal
human behaviour. So here world is acted as human
behaviour.
Hence option (c) is correct.

107. What is this activity known as?
Students are divided into groups of four and
each one is assigned a character in a family
situation and supplied with some language
chunks. They converse for the situation in their
groups and the teacher later picks up each
character from some group and asks them to
converse as a group to the whole class.
(a) Dramatics
(b) Speaking activity
(c) Role play
(d) Language generating activity

Ans. (¢) : The above activity is known as role play. It
can be effectively used in the classroom to motivate and
engage students. It provide in real world situations
(negotiation, debate and teamwork)

Hence option (c) is correct.
108. 'Input rich environment' refers to
(a) making the language seen, noticed and used
by learners.
(b) input in the training given to learns.
(c) making the language teacher to use the
language in the classroom
(d) textbooks and other materials

Ans. (a) : "Input rich environment" where the language

is seen, noticed, and used by the children help them

learn the language and proficiency in the language also
increase.

Hence option (a) is correct.

109. Which of the following are essential for
learners in a classroom to start using language
for different purposes?

(a) Language inputs and interaction
(b) Grammar teaching

(c) Vocabulary

(d) Narratives and poetry

Ans. (a) : Language inputs and interaction is essential

for learners in a classroom to start using language for

different purpose.

Hence option (a) is correct.

106. What is 'mother
multilingualism'?

(a) Learners begin their schooling in their mother
tongue and move on to add at least two more
languages.

(b) Learners learn their mother tongue, state
language, Hindi and Sanskrit.

(c) Learners begin their schooling in their state
language and add English, Hindi and a
foreign language

(d) Learners begin their schooling in English
medium and add the state language, Hindi
and English.

Ans. (a) : Multilingualism- is the use of more than one
language, either by an individual speaker or by a group
of speaker. So learners begin their schooling in their
mother tongue and move on to add at least two more
language.

Hence option (a) is correct.

tongue based

110. A teacher makes groups of four learners and
asks them to read and make a summary of the
text/story. When students are working in
groups she is helping them as and when
required by the groups, later she asks the
groups to present it to the whole class. What
could this be described as?

(a) Group work

(b) Scaffolding

(c) Whole classroom discussion in groups
(d) Communicative language teaching

Ans. (b) : The whole activity could be described as
scaffolding. It refers to a wvariety of instructional
techniques used to move students progressively toward
stronger understanding. Teachers provide successive
levels of temporary support that help students reach
higher levels of comprehension.

Hence option (b) is correct.
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111. 'Infering meaning' is :

(a) to deduce meaning base on evidence and
reasoning.

(b) to understand what is being implied and
understood.

(c) to find out the meanings of words

(d) to write a summary of text.

Ans. (a) : "Infering meaning" is to deduce or conclude

from evidence and reasoning rather than explicit

statement.

For example, if someone slams a door, you can infer

that she is upset about something.

112. 'Semantic due' in reading is ...............
(a) the meaning of a word
(b) the prompt for identifying the grammatical
item.
(c) the prompt that supports the meaning-making
process.
(d) the prompt for the correct pronunciation of
the word.
Ans. (¢) Semantic means the meaning and

interpretation of words, signs and sentence structure and
also prompt that supports the meaning making process.
Hence option (c) is correct.

113. Here is a conversation between two persons.
Read it carefully and find out the purpose of
the interaction.

Person 1 : Hello! How are you? Glad that you
have come back.

Person 2 : Hello! How are you? I am doing
well. What about you?

Person 1 : I am fine. How is your health now?
Person 2 : Improving, I am able to work now.
(a) Personal communication

(b) Informative purpose

(¢) Transactional purpose

(d) Interactional purpose

Ans. (d) : The purpose of above conversation is
interactional that deals with how humans use language
to interact each other the aim of interactional language
is to maintain a social relationship.

Hence option (d) is correct.

114. What are 'Form oriented language inputs' for
language learning?
(a) Inputs which focus on information
(b) Learners receive vocabulary, pronunciation
and grammar.
(c) Learning to wuse language for meaning
conveyed in the inputs.
(d) Potential of the input for learning writing.
Ans. (b) Form oriented language input is
competencies to enhance in using the language. In this
input learners receive vocabulary, pronunciation and
grammar.
Hence option (b) is correct.

115. The new structure of school education in the
National Education Policy 2020 recommends :
(a) 5 years primary + 3 years upper primary + 2
years secondary + 2 years senor secondary

(b) 2 years pre primary + 5 years primary + 3
years upper primary + 4 years secondary
(c) 5 years foundational + 3 years primary + 3
years middle + 3 years secondary
(d) 1 year pre primary + 5 year primary + 3 years
middle + 2 years secondary + 2 years senior
seconary.
Ans. (¢) : The new structure of school education in the
National Education Policy 2020 recommends—
5 years foundational + 3 years primary + 3 years middle
+ 3 years secondary.
Hence option (c) is correct.
116. Language curriculum aims 'To develop control
over different registers'. What does this mean?
(a) Learners comprehend and use language
suitable to the content of different subjects.
(b) Learners understand text in science and social
sciences.
(c) Learners use language for day-to-day
communicative purposes and functions.
(d) Learning the language registers in different

languages.
Ans. (a) : Language curriculum aims "to develop
control over different registers" means learners

comprehend and use language suitable to the content of]
different subjects.
Hence option (a) is correct.

117. Which one of the following is NOT advocated
as a goal of developing reading among
learners?

(a) Drawing inferences while reading a text

(b) Relating the text with one's previous
knowledge

(c) Mere decoding of the text

(d) Make meaning of words, language chunks

Ans. (¢) : The goal of developing reading among

learners is drawing inferences while reading a text,

relating the text with one's previous knowledge and
make meaning of words language chunks but mere
decoding of the text is not.

Hence option (c) is correct.

118. Which two of the following are bottom-up
strategies in listening skills?
(A) Recognize word and clause divisions
(B) Use key words to construct schema of the
discourse
(C) Infer the setting for a text
(D) Retain input while it is being processed.
(a) C and D are bottom-up strategies
(b) A and D are bottom-up strategies
(c) B and C are bottom-up strategies
(d) A and B are bottom-up strategies

Ans. (b) : The bottom-up-approach in listening develop
learners to recognize individual words, sentences and
clause divisions and retain input while it is being
processed.

Hence option (b) statement (A) and (D) is correct.
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119. Meena is able to recognize the word 'envisage'
in a text or when it is spoken, but is not able to
use it on her own. What would you call this
vocabulary?
(a) Active vocabulary (b) Passive vocabulary
(c¢) Difficult word (d) New word
Ans. (b) : To the above activity you would call this
passive vocabulary is the word that they understand but
don't use yet. This can be compared with learners
understand and use in speaking and writing.
Hence option (b) is correct.
120. Which of the following is NOT true of
grammar learning?
(a) Learning to use the grammar item in real life
purposes.
(b) Discovering the form through use in contexts.
(c) Learning the rules of grammar by mastering
the rules of the language
(d) Using the form in contexts.
Ans. (¢) : "Learning the rules of grammar by mastering
the rules of the language" is not true of grammar
learning.
Hence option (c) is correct.

their roots and provide the seabed a shallow slop.
This helps it to absorb the energy of waves and tidal
surges, and acts as a shield for the hinterland. The
trees themselves form a barrier against wind.
6. Since mangrove areas are ideal for shrimp farms,
they are being 'Colonised' and mindlessly destroyed.
India is among the top four shrimp exporters, with
production growing at 15% a year. But this has
extracted its price-in the past 40 years, India is
estimated to have lost half its Mangrove forests,
rendering states like Orissa and Andhra Pradesh
vulnerable to the fury of cyclones.

Read the following statements.

(A) The damage caused by the October cyclone
could have been prevented by the
mangrove forests.

(B) Shrimp farms are responsible for October
cyclone.

(C) The incoming waves could have arrested
the October cyclone.

(a) (A) is true and (B) and (C) are false

(b) (A) and (B) are true and (C) is false

(c) (A) and (C) are true and (B) is false

(d) (A) and (C) are false and (B) is true

121.

PART-IV
LANGUAGE-II : ENGLISH

Direction (121-128)-

1. The havoc the October super cyclone caused in
Orissa could have been avoided had its mangrove
forests not been destroyed to develop shrimp farms.
New  Scientist magazine, quoting coastal
geographers from Cambridge University, recently
said: "The (Orissa) coastline was once covered with
mangrove forests and these would have dissipated
the incoming wave energy."

2. Indeed, considering the unbridled human activity
along the Indian coast more Orissa's can be expected
at greater frequency-For, the delicate environment
balance has been upset, compounding Nature's
abnormalities.

3. India isn't alone in targeting its coastal areas for
economic activates like ports, shrimp farms, oil
refineries, luxury hotels and holiday resorts. In a few
years, nearly 80% of the US population will be
living within 50 miles of the coast. In India too,
coastal populations are growing.

4. The emergence of megacities along the sea is seen
as the single greatest threat to the world's coastal
environment. Today, mangrove forests cover just
15.8 million hectares, and are declining at an
assumed rate of 2 % every year. In the last few
decades, feverish human activity has either
destroyed or transformed nearly 50% of the world's
total mangrove forest area. Worse, Only about one
per cent of the global mangrove area is protected.

5. Mangroves are flowering plants, which grow on
tidal coasts between the high and low water marks in
clay and silt, They possess unusual" prop and knee"
root system which enables them to trap sediments in

Ans. (b) : According to the passage, statement (A) & (B)
are true. "The havoc the october super cyclone caused in
Orissa could have been avoided had its mangrove forests
not been destroyed to develop shrimp forms."
The given statement (C) is false.
Therefore, option (b) is correct.
122. The destruction of the mangrove forests cannot
be attributed only to
(a) Waves and tidal surges
(b) Unbridled human activity
(c) The development of shrimp farms
(d) Economic activities
Ans. (a) : As per the passage, the destruction of the
mangrove forests cannot be attributed to below given
activities.
(i) The development of shrimp forms.
(i1) Unbridled human activity
(iii) Economic activities
Waves and tidal surges can't be attributed to the
destruction of the mangrove forests.
Therefore, option (a) is correct.

123. Study the following statements.
(A) the mangroves absorb the energy of
waves and tidal surges.
(B) the mangroves form a barrier against clay
and silt.
(a) Both A and B true and B is responsible for A.
(b) Both A and B are true and B is not
responsible for A.
(c) Bothe A and B are false.
(d) A'is true and B is false.
Ans. (d) : According to the passage. "The mangroves
trees absorb the energy of waves and tidal surges, and
acts as a shield for the hinterland. The trees themselves
form a barrier against wind, therefore we can clearly
identify that statement (A) is true & (B) is false.
Hence, option (d) is correct.
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124. The single greatest threat to the world's coastal
environment is:
(a) The unbridled human activity along the coast.
(b) The emergence of megacities along the sea
(c) The reduction of mangroves
(d) Feverish human activity
Ans. (d) : According to the passage, 'The emergence of
megacities along the sea is seen as the single greatest
threat to the world's coastal environment.
Hence, option (d) is correct.

125. 'Pop and knee' root system means that they
(1) trap sediments in their roots.
(2) provide the sea bed with a shallow slope.
(3) act as a shield for the hinterland.
(4) allow wind to cross finally.
(a) 1,2,3 are true (b) 2,3,4 are true
(c) 1,2,4 are true (d) 1,3,4 are true
Ans. (a) : According to the para (5) "Management are
flowering plants, which grow on tidal coasts between
the high and low water marks in clay & silt. They
possess unusual "Prop and knee" root system which
enables them to trap sediments in their roots and
provide the seabed a shallow slope. This helps it to
absorb the energy of waves and tidal surges, and acts as
a shield for hinterland. The trees themselves form a
barrier against wind."
We can conclude that it supports statement (1),
(2) & (3) and does not support statement (d).
Therefore, option (a) is true.

126. 'In coming 'in para 1 is used as a/an
(a) noun (b) adverb
(c) adjective (d) verb
Ans. (c¢) The word 'Incoming' is an adjective.

Britannica dictionary definition of incoming always
used before a noun, : Coming in : Such as a : arriving at
as coming to a place.
Synonym of 'incoming' word-
Arriving, entering, approaching, coming.
Therefore, option (c) is correct.
127. 'Unbridled' in para 2 means the same as

(a) Uncontrolled (b) Undesired

(c) Unexpected (d) unforeseen
Ans. (a) : The similar meaning of the word 'unbridled'
(f5) is uncontrolled (F{H¥).
The synonym of this word is -
unrestrained, unconstrained, uninhibited, unrestricted
Therefore, option (a) is correct.
128. (A) Mangroves are flowering plants

(B) Which grow on tidal

(C) coasts among the high and low water

(D) marks in clay and silt

The above sentence has an error in part

(a) A (b) B

(c) C (d D
Ans. (¢) : In the given sentence, part (C) has an error, as
'between' should be used in place of among because this
sentence talks about only two thing- between the high &
low water.
Among— Among is used for more than two things.
Therefore, option (c) is correct.

Direction (129-135)-

The idea of euthanasia of hastening the death of
someone from motives of compassion, covers two main
situations. The first is where someone is close to death
and can be kept alive briefly, only with intensive medical
care. In this case it ought perhaps to be stated explicitly
in law that a doctor is not bound in all circumstances to
use all conceivable means of prolonging a patient's life.
The official reason for the use of every possible
technique on patients for whom there seems, to the lay
eye, no hope is that we never know that there is no hope
of at least a brief recovery.

The second situation, in which it is proposed to end
life of someone who is not expected to die at once from
natural causes, is morally more doubtful. In so far as the
suggestion may be based on the notion of the 'quality of
life' experienced by the patient , this is an inadequate
approach to human beings, whatever their capacities. At
one extreme we may be dealing with a birth that cannot
be called 'Human' at all: such a being is likely to live at
the most for only a few hours. Many people would feel
that during this time it ought to be given ordinary nursing
care. But it would be difficult to condemn anyone who
took the opposite view. At anything less than this
extreme, the bringing to an end the life of say, a spastic
child, by the deliberate refusal of the fullest medical care
seems morally indefensible.

129. Euthanasia means hastening someone's death
(a) for material gain
(b) for medical experimentation.

(c) on compassionate grounds.
(d) for better quality of life.

Ans. (¢) : According to the passage, "the idea of euthanasia

of hastening the death of someone from motives of]

compassion as if someone is near death and his life is not
justified to be lived therefore, option (c) is correct.

130. The reason for banning euthanasia's is that :
(A) we can never be sure that there is no hope
of recovery.

(B) it may lead to immoral exploitation.
(a) (A) is true and (B) is false.

(b) (A) is false and (B) is true.

(c) Both (A) and (B) are true

(d) Both (A) and (B) are false.

Ans. (d) : Euthanasia is the practice of intentionally

enduring life to relieve pain and suffering different

countires have different euthanasia laws.

Both the statement (A) & (B) are false, and does not

fulfill the reason for banning euthanasia.

Therefore, option (d) is correct.

131.

Which of the following cases does not come

under the terminal category?

(a) A spastic child

(b) A person on life saving drugs

(c) A patient with prolonged illness

(d) Someone likely to survive only for a few
hours

Ans. (d) : Someone likely to survive only for few hours

doesnot come under the terminal category. (fdt

Hsy/&Afh & 3id o1 B W BH11)

Therefore, option (d) is correct.
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132. The reason for banning euthanasia's is that :
(A) we can never be sure that there is no hope
of recovery.

(B) it may lead to immoral exploitation.
(a) (A)is true and (B) is false.
(b) (A) is false and (B) is true.
(c) Both (A) and (B) are true.
(d) Both (A) and (B) are false.

Ans. (¢) : Both the statement (A) and (B) are true.

The reason for banning euthanasis is that we can never

be sure that there is no hope of recovery and it may lead

to immortal exploitation.

Therefore, option (c) is correct.

133. It would be difficult to condemn anyone who
took the opposite view
The underlined is an example of a/an__

clause.
(a) Adverb (b) Adjective
(c) Noun (d) Principle

Ans. (b) : The underlined is an example of an adjective

clause.

Adjective clause— It is a type of clause that gives

information about the noun or pronoun that it modifies

it generally starts off with words like who, whom,
whose, when, where, which that and why.

Therefore, option (b) is correct.

134. 'Lay eye' in line 5 means a/an

(a) wasted article

(b) idle child

(¢) inexperienced person
(d) blind eye

Ans. (¢) : The meaning of 'lay eye' is — inexperienced

person.

It means to see or look at someone or something

especially for the first time. A possessive adjective. Can

be used between 'Lay' and 'eyes'.

Therefore option (c) is correct.

135. Which of the following means the same as
'notion’' in line 8?

(a) mode (b) belife
(c) pledge (d) plaudit

Ans. (b) : The similar meaning of 'notion' is 'belief' (A9

T FE 9, T, foER, o)

The meaning of other words are —

Mode — fFet 3% a1 HIE FM B F THR

Pledge — Sfd, AR = 1 Teafd

Plaudit — SmaTeft, foRelt @ & fow sefer

Therefore, option (b) is correct.

136. National Education Policy 2020 recommends
the study of foreign languages such as Korean ,
Japanese, Thai, French, German, Spanish,
Portuguese and Russian as
(a) part of three language formula
(b) additional languages
(c) part of the vocational courses
(d) part of skill development

Ans. (b) : National education policy 2020 recommends

in addition to high quality offering in Indian language

and english, foreign languages, such as korean,

japanese, thai, french, german, spanish, portugues and

russian, will also be affered at the secondary level, for
students to learn about.

The cultures of the world and to enrich their global

knowledge and mobility according to their own interests

and aspirations. These languages are included as
additional language.

Therefore, option (b) is correct.

137. A learner in the city of Srinagar opts
Malayalam as her third language and is able to
speak and read it within a year through her
classroom exposure and interactions. What is
this known as ?

(a) language learning

(b) Language acquisition
(c) language addition

(d) Subtractive bilingualism

Ans. (a) : This process is known as language learning-
Language learning— It is an active process that begins
at birth and continuous throughout life. Students learn
langauge as they use it communicate their thoughts,
feelings and experience establish relationships with
family members and friends, and strive to make sense
and order of their world.

Therefore, option (a) is correct.

138. Which two of the following are true as per
current understanding of language learning?
(1) Errors are learning areas.

(2) Errors hamper language learning.

(3) Errors should be corrected then and there.
(4) Errors are feedback for the teacher

(a) 2 and 3 (b) land 2

(c) 1and 4 (d) 3and 4

Ans. (¢) : In applied linguistics, an error is an

unintended deviation from the immanent rules of a

language variety made by a second language learner.

Such errros result from the learners' lack of knowledge

of the correct rules of the target language variety errors

are learning areas, & it is a feedback for the teacher.

Hence statement 1 and 4 are true.

Therefore, option (c) is correct.

139. Procedural knowledge in learning of grammar

is know as .

(a) analyse one's errors to learn language

(b) understanding how a (grammatical) form
works and applying the same

(c) learning the rules of grammar
reproducing it later

(d) understanding how a grammatical form works
from a grammar book.

and

Ans. (b) : The two motions are similar to Chomsky's
distinction between competence and performance, the
first referring to the factual knowledge of a language
(grammar) and the second to the actual ability of using
language. The concept of declarative and procedural
knowledge is based on the view of language.

Procedural knowledge is known as understanding how a
(grammatical) from works and applying the same.

Therefore, option (b) is correct.
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140. A short story is a .
(a) Descriptive writing
(b) Analytical writing
(c) Narrative writing
(d) Comparative writing
Ans. (¢) : A short story is a form of narrative writing
that has all the same elements as novels— plot, character,
development, point of view, story structure, theme —
but are delivered in fewer words. For many writers short
stories are a less daunting way to dive into creative
writing than attempting to write a novel.
Therefore, option (c) is correct.
141. Multilingualism as a strategy in a language or
content classroom is
(a) Making use of the languages of learners to
teach-learn languages and content subjects.
(b) Teaching-learning of many languages which
includes mother tongue, modern Indian
languages, classical languages and a foreign
language.
(c) Teaching-learning of as many languages as
possible.
(d) Learning the mother tongue both as a
language as a medium.

For example— build a garage, develop a website, go on

vacation, organize a party. Therefore, option (d) is correct.

144. What is the following typology of question
known as ?
Imagine you are the son in the story and write
your feelings in your diary at the end of the day.
(a) Descriptive writing
(b) Extrapolative writing
(c) Autobiographical writing
(d) Creative writing

Ans. (b) : This type of typology of question known as
extrapolative writing — it is about taking facts and
observations about a present or known situations and
use them to make a prediction about what might
eventually happen.

Extrapolation comes from the word extra, meaning
"outside" and a shortened form of the word
interpolation.

Therefore, option (b) is correct.

145. major aim of teaching -learning poetryis .
(a) enjoyment and appreciation
(b) Learning the art of writing poetry
(c) Language learning
(d) Learning vocabulary and grammar

Ans. (a) : Multilingualism (multilingual classroom) is a
classroom with learners having more than one
languages at their disposal (irrespective of level of]
competence), including learners from migrant
backgrounds, such as first & second generation and
newly- arrived immigrants and refugees.

This strategy makes use of the languages of learners to

teach-learn languages and content subjects.

Therefore, option (a) is correct.

142. Learners undergo the various stages of writing
. what is this approach to writing known as ?
(a) Product approach
(b) Process approach
(c) Paragraph dictation
(d) Personal writing

Ans. (b) : Process approach— A working process

approach is based on the principle that if students

receive formative feedback during the process of
writing than their final products will improve. This
approach to writing known as process approach.

Therefore, option (b) is correct.

143. Here is a teacher who divides her class into
groups of four and allocates a number of
themes/ topics to each group to work over a
period of three months and to write and
present the report to the whole class. What is
the group activity known as ?

(a) Group work (b) Assignment
(c) language task (d) Project work

Ans. (d) : This kind of group activity is known as

project work it is a work which focuses on completing

a task. Project work normally involves a lot of resources

— time, people and materials and learners practice a

range of skills and language systems. A group of]

teenage learners work on a project to develop a series of]
posters on how to protect the environment.

Ans. (a) : The major aim of teaching poetry is
enjoyment and appreciation. Poetry has tremendous
appeal for children and it is the best way of exciting
their love of the language. It lays the foundation for the
appreciation of the beauty of the language. It enables
students to enjoy recitation in individual and chorus.

Therefore, option (a) is correct.

146. It is expected in a language classroom that
learners work in and work with language. This
is
(a) Learning the forms of the language
(b) using the language with accuracy
(c) engagement with language
(d) acquisition of language

Ans. (c¢) : This is engagement with language. In the
context of language learning and use, 'engagement with
language' (engagement) is a cognitive, and/or affective,
and/or social state and a process in which the learner is
the agent and language is the object and may be the
vehicle (means of communication).

Therefore, option (c) is correct.

147. An' authentic text'is .
(a) a text/ narrative written by textbook authors
(b) an original of the text from context
(c) a completely modified and contrived text
from the original writing
(d) a story and pictures drawn by learners as part
of their assignment

Ans. (b) : An authentic text is an original of the text
from context. Authentic text may be thought of an any
text that was written and published for the public.
Journal articles, blog posts and novels are just a few
examples. Authentic texts are written for 'real world'
purposes and audiences: to entertain, inform, explain,
guide, document or convince.

Therefore, option (b) is correct.
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148. Basic Interpersonal Communicative Skills

(BICS) refers to .
(a) language needed for conveying abstract ideas.
(b) Language needed for communication by
young learner.
(c) language needed
communication.
(d) communicative language teaching
Ans. (c¢) : Basic interpersonal communicative skills
(BICS) refers to language needed for here-and-now
communication.
It is a language skills needed to interact in social
situations, for example— when chatting to a friend.
Therefore, option (c) is correct.
149. Language assessment is oriented to
(a) Measure the achievement of learners.
(b) find the place of the learners in their class.
(c) measure their overall or summative
achievement.
(d) measure the language proficiency of learners.
Ans. (d) : Language assessment is oriented to measure
the language proficiency of learners.
Learning oriented assessment (LOA) is a systematic
approach to language learning that uses formal and
informal assessment to : help teachers and learners to
plan learning more effectively, measure progress,
identify areas for improvement.
Therefore, option (d) is correct.
150. What is 'content oriented language inputs'?
(a) Inputs which focus on how language is used
(b) Vocabulary, pronunciation, grammar, etc.
(c) Presentation of the inputs and its processes.
(d) Language inputs which focus on information.
Ans. (d) : Content oriented language input focuses on
information precisely competencies to enhance in using
the language linguistic competence guidance from the
teacher and another source on vocabulary pronunciation
and grammar. Discourse competence appropriate things
to say in specific contexts
Therefore, option (d) is correct.

PART-III
Language-I: Hindi

ot (91-99) -Fr=fafaa i & eamgds
g T T YoAT o WeH SUITH [aeheT i I
I ifST-

Hietehe R T # gaE B F&g O auf & ot = %
IS 3 T Uedl & d &A1 B ISP HoldT e I ofd &
I TZ heHT H S-S A T fEeR B gg we
{al & A & o gioE-ufs a9 v o 99 e &
W& IGH T T H A Ll S B A e
Ffereh TRt forstett Rt aifees =med, &l i Refsmee
St i Bt e, fretehe % JoT 1 A7 AT & At
Tl ST 3R IH hehl B @ IA & 6E ¥ Heal g
ST | % g W R 98 dfed IS W A 9 3R
It R S T G gE | BE-F F qH T

for here-and-now

3

F U@ ¥ TuFd Al & @ G F d-de g
e R Fd W | 39 SIS & A § aud
FG 99 331, T8 ff TH HEU B T Th oA T
FE G TEEhH ¥ Fehe ger R a2 il 9 ued
e SR H Uk foran uh ar fedr foee &

SR T HE H oeff THh A & U T H g T

&Vﬁﬂﬁl

RG]
R

3

91. eI ¥ Hietehe It feREeh feTT Wk g 7
(a) YT & faw (b) s & fog
(c) O & fou (d) dfer & forw

Ans. () : TV ¥ Folhs ¥k AR & foTT W g3 @
39 foeheq 3T 81
92. AT W ST WSS Mg’ T WIS &-

(a) B ¥ I GG H BT

(b) & H T T e

(c) T | o I 3EEH

(d) Te SER IRg & g
Ans. (b) : A1 H TS TS M@ H G g H TR
T 1 GeE 81 3 fashed Teid 2|
93. ficTeha o heRT ol T <tey It &It §7

(a) TG & % 399 F (b) Fell & 30T A

(c) T I T H (d) faereh & a9 9
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95. U@l T TATI X T o (o1 T TeRaT STTaT
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(a) UG T Fe &= S
OEEEREEIRICIRICH
(c) g9 & I@T F G
(d) a1 & ggt & her
Ans. (b) : TG1 &I T R FH & T IR TH-TW &
e & | ¥ o did 8l
96. ‘HrUTA' Ufth T YANT gIAT?
(a) HTet TEl o = 3RS & fow
(b) =fer i & e & forg
(c) 7o Ft St LAt o fere
(d) fosrelt & Fead & foau
Ans. (b) : ‘T Uk F FANT AR H & & /A H
fore fopam T R

97. ITHEIEd @ Hi-faesg g-
(a) 3T H 3T (b) 3 + 3T
(c) ¥Rl + a (d) 3T + 399

Ans. (d) : ‘=g H T G- o< + 3
BN 3T + 39 Tieg T ‘S=aicdd’ Teg o1 2 |
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TN < + 39 = A=<Iqd § 37 + 3 = 37 & A
g T 21 3T gHH o7 | g
MU E— AR W AW kAR T AT, T AT
3 T W, A A e A W, 3 S e @
S g1 S-

WE =g+ =F+3=0Q

ReT = U5 + 389 = 3 + 3 = 3
M-I F WH W HEA-E1 I6E AN

98.

T < Tehar £7
(a) Hfereata (b) THFR
(c) 3T (d) TFR
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(a) (b) wEIH
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|
FHeH, A 3T T A |
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(d) T S
Ans. (b) : 3T THY & IFTER HE FCUT B A
Gfrhi BT UM T T B |
101. o T @ <= araas 37
(a) 3R fo@ g (b) 3T & A9 g
(c) I FH & (d) 7 JaT g
Ans. (d) : 3T TY & SER oAl feeaw ¥ qwwd
T <A S 2

102. oY 9 o1 wrane feRaer fora feram wwam €2
(a) §1 & SEM & o
(b) 9RG & FArsd & fow
(c) SferRE 911 & e
(d) Tzard St & fore
Ans. (c) : ITH TA & IR @ AT F Hared
Fferert @ o fore faam 21
103. ‘S-S Y T T HT A 8-
(a) FIMT & 9 B (b) T B S
(c) TSUH 7L ST (d) STIsh TR ST
Ans. (a) : ITF TEE & IR TA-9A F I T H
qTel § AT bl ST B
104, Trefead § @ G 91 &-
(a) I7 (b) @
(c) Tt (d) femmd
Ans. (d) : Frefefaa 8§ @ femd g5 wes 21
Ty et aoft, a5, M, 9= gk F AW B wr
Fed &1 Q- [, T, O seanfe | W & e ofe
a2 B -
1. ARk =D G
2. A9 e 3
3. Sfd araes 93
4. G a<h G
5. g7 e Gl
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(a) &9 o (b) T fFR
(c) 3TIfTd (d) @ &9
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faowur— G A ‘wdam & fERiver aqe At veal
‘fereror e @1 Foreet ferivar aared S 8, 39 favrey’
el ST &1 SHE-
oY &9 HAl T
J J J J
fergeoT ferrsr fagmor  fargrsy
106. HTIHTHT T SR TEHTRIehRAT =T &7
(a) Toreneff otoft fommert fomem stoeft mrgwmT H
T HT & q97 M HH Y H7 & g 3R
T 8|
(b) foremeff sroeft mrgumST, TS At wmn, feed den
T g g
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¥ oy 0 § 9 W S, B 9w
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YA FAT 21 fay  agemt i i wen e
qa § aga e 81 fagmi w1 Aa 8 f fywmfvear fomdt
ft =afs & 9 wd e & o & fow aga swmh
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TTET €1 9T % IIeg AT Areiyn few W A
U wUE § 39 fgfy W amiey wd € 91
T ITeATUS: Ucddh WUE § foremeff AwiE &
At welT & WHA TH GUE & ®U W Araieny
A T gt/ HEAT B

(a) <= (b) Tferfafes
(c) Tt (d) ST g At
Ans. (c) : fFenffl & 9R-9R & TE § diear JE H

e Rafd &1 #E b =T 3 fear swr 81 9w &
¥R 7 e 3 9§ e gye # 39 fefy w
Ffary FA g1 A § eTeAs Yom wpe o faenedf
SAHTIT X T FA b WA T T8 o &9 F g
F H, FA-H H 39 AR B AT Fad 2
108. ‘fa9T wyg uRaer’ §-
(a) Tmenfefal gmr SE-gAt o o & @ 7w
£l T
(b) Terenfofai =it faw S arer wfvweor # foaren
(c) o1 f3TeTsh T HeTIheT H WINT & FANT A &
forT qaR e
(d) T Yieh q9T 3T Er
Ans.(a):WWa@-ﬂ?ﬁﬁmﬁa@T@W
&1 LT BT AV Ggg uRAw S 81 e &
THT Ry e aed 31O AT A § Hes Hegd
eIl I T AR Y qgg IRae el 8|

109. Tr=fafaa ® @ w=-wr et grr fafis
3T o T ameT T W ST S % feg
HT-HeT T STevere §7
(a) 9T fAAYT o UREfiss Harg
(b) AT
OREESI
(d) I T Hfear

Ans. (a) : FEffad & ¥ 9 few 9o aREiss o

el g fafte sEvdl & fow amn &1 s e

FH & U FHer-e § avas 7|

110. Ue forerent Frfanfefai & = w9 ® atedt €
3R 3R U SO/ /FEHT UGS AT IR W
forew & foT wedt &) oo foeneff v & @t

m@%ﬁﬁﬁaﬂwwanmma?ﬁ

ITH A T W &1 9 ¥ 3% 39 w1

T & WHA WA FH & fw wEd ¥

T e Tehl 87

(2) S8 Hrd

(b) TETIAT FEA

(c) Ugl § WRl H 9uEd sHeqhel =t

(d) TISUTTES: AT fYneTOT
Ans. (b) : U5 Ui frenfefai i 9r % wqg § sied 2
3R 3% TH IEWY/FEH T qU SUH R formd &
foru et 81 v fernefl wg # @ A @ € A St eik
S SAETIHAT Bl § g8 STl Hag L W 21 98 H 3%
39 o F ol e F WA T FH F A€ Fd 2
= e FE TR B
111, ‘eref & forg egae’ 2-

(a) Tl q9T TRt W Menia o7ef e

(b) 1 3fafifed & o o gHEn T, $9 g

(c) W=l & 37 g

(d) 3ST0T 1 GR fergn
Ans. (a) : 3 & AU oAM=, el qun 9wl W emeiRa
a1 Foreprer 21
112. BT H Fui-gaha' § -

(a) Tl vrsz =1 o7

(b) TR figadi i wgarH & forw T

(c) 3 Ta STt a1 oA &1 uFRAT H W B

(d) ¥ % HE ITARUT & foTw Hebd
Ans. (¢) : 3 Tk ST 374 T F AR § WEIEE & avl-
Hohd el & | aui-Goba avi-fae & a1 &1 wefdfa s
g1 e g sus @ o & A g 21 e faeed
FET 2|
113. 9% < SAftwal & W andieny §1 39 & |

T
@
il

Tfeu qT 3| STl o SE9T iUl

=vh1- ¥ oa A &2 Ny w31 Ty
et g .

=f¥h2-  Fer! omw A €7 § srest €1 ey
3T SN H S|

fvh1- B 3ToDT §) 3T STTUehT TE HuT &2

HTh2- TEA W g g1 3T | R HT Tehall

A

(a) SANET aTrearg

(b) Y ITTd

(c) TR T I

(d) IREIRe f3pam &1 37YT
Ans. (d) : 39 ST USRS BHAT H LTI T
TREIRS T A1 S T g TES 3R WER €0
FEY B F T TgIET R @AEE qeAw g WY
U IO R S SEH-SE B 1 R fh
TSI # 98 W § S AHE SR @ anee 3R
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e 1 1eAEd et 8, fad TRt v vy

2 2| Ui R & wAe #, dege #, st #,

Ay-fRy & ol fafire ggem S 1 wh Wem @

A fomar S awl Bl SO URERs fRAr a6

TUIEATCN o Gehd &1 STl 4 b [ YA,

iR T SR A FE S Tesl W & e

TS el §T & Tehd & |

114, wmor e & fow ‘ww S amr frEer

T 87

(a) T fa9 S o W s 2

(b) Torenedf vIeadURr, ITAROT q9T O B GHH
T L 2 2

(c) frawr & faw 7w o1f &t amr § wA HE
ESiECEll

(d) o draa & forg fasr &t gurerar
Ans. (b) : W ferm % ®U @ AW fEw gW
foremel voa TroET, STUROT q9T ST T TS I B
g1t & aed g @ g Rl of R %
AR W AT STeT it Wl @ 9 & gl § off
7 91T AN &t 2, foheg et oI YR & 9 & st
e off T 8, g8 9T & S @ % garE qen
38 9 S G arell e aRRafed § & geg
31T 7, SHRTT WIS @ SIRIT ey et T R
115. et forem Hfifq 2020 foemerh foram & <=
Qe W SATIrET HIA §-
(a) 5% wafis + 399 I=w Wafts + 29
qMeAfis + 299 3= WIS
(b) 238 qd Waftss + sad WAt + 399 3=
Wt + 498 AreAfes
(c) 5a% FFEE + 339 FRARE + 399 fAfsa +
459 AreAfhs
(d) 199 g wafas + a8 i + 399 fafsa +
299 3= HreAthS
Ans. () : TS f¥em Hifq 2020 former foen & g9 A0
g A erEe el 2 S €, 5 a9 gfeEd + 3 9
TR + 3 a9 fafedd + 4 a9 @eafi | NEP 2020 &
3Tl Uiedl R A% & SHEl B HGHT, TR S
3R Ty A § & e B S|
o S & TG o fIT BEI W HI ATEAA A B, Ih
fy "&pd 3R o9 RN 9RdE qwei & ued &
foeped off Hie @I
o e 10 aIS Y Afrardar F @H H & T )
B & it 126 glien A i
o IS # feaft 3 af 3w 4 af & gnd

o Mphil & 3tfarar @ & st

116. TS St UTE@At ot 39 ¢ ‘farfvrer yaferat we
TR T T AT’ SHehT o T 31 €72
(a) foremelf fafors faweli =0t fawg-axg & ST®T 9™
I THE 3R AT T &

(b) fereneff fagm qun arfSr-fagm &t fawa-asg
T §

(c) Tomendf Usmed & wuUTeHS S2EE q9r HE &
T o1 7 ST A §
(d) farfrer mredt & wmn spfeRal i €
Ans. (a) : 9T I TSl B 329F 7 (AR wgRed W
AR & far & gue o 7, el fafve fw
P - o SFET A B HE R T H
el IR & VRl § e 51 @ ared wd =t | g
1 27 2 Ugd A YT YgH AT SR ==t & ot B-
frmd® STl T YRR Tewedt @ e gem ued
gr (Sed ) siEEr gem gl faw e iR
foramstl &1 famges STe|
117. fafeafaa ® & fordat Rrenfd=i’ & v &
TorerTa & 2T % ®U W FehTerd 2l ol T8 &7
(a) T wrmlt 1 ged 9mg AT
(b) fo=r TmEft &1 319 qd FE § Sie
(c) T wrht = fadh ge=EAT
(d) iy Tl aur veal & 3t e
Ans. (¢) : F=fofad & favg gmeht & fad ggamar
W@ﬁw%m%wéwﬁw:@ﬁ
T 21
118. FAfefaad & @ &9 @ & G Hivrer @i
Seatgel TRttt §2
A. IT6 AT FTSFATIT SRl TEATAAT
B. fom¥l & foTT ®v W 5= & fee e oregi
T YT AT
C. T &t ot & fog ergAm e
D. WfeRan o wwE feeT st s=TT @
(a) C T D FeAtgdt wHfaar §1
(b) AT D SeAE Wi €
(c) BN C SeAtqE wrifear &1
(d) A @1 B Featq@l wiifeEt €
Ans. (b) : Y& TIT AT P! TG TF HfshaT & T
fow & T W@, A ogam F # FEEE
wrHifEt ¥ gEn wee ¥, e W@ § g A
AT B ‘HAUT VR ‘Y W W a1 ¢ Forh wnfeas 7o
? g # TR, eArgds g, STeEE G, S
FEC 81 HIUC BT 319 S TE % HH B H A,
T A1 gEdAT| e SAtE # gAd § 3N g
SFTHIT B & |
ST I o IEYT—
1. BEH gaw & 9fq S 3 H SIS 9 g
Tl B AT g |
2. BEH AR ARV F A B HE
3. THU & EW ITAIRG VR Bl GAHRL [ IeAn0] H
& A T
4. o7 9 % WEEUl YN W UgEMA @ A
[EEISEREaCIN
5. o0 Gl % WUl omdNe, WHemfl femmi dem
el BT I B I R FET
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119. =T feredt feroar wmmaft ® o aratena o ‘|
ITeg et ¥, TRy W | 3W vIsE 1 T
Y IrEAY {1 3T TH IS AT FHe 7
(a) Wfsha vIsETECH (b) Ffra wraraett
(c) ®feT I (d) 7&H =R

Ans. (b) : T fEt fawa 9ol A =1 a@ey § 9w

TR TEAE 2, e WE 9 3W Wk & AN F A

awd B 1 F vearEel i vsarEel & 3t S 2 |
120. F=fefRaa @ @ -9 ATRT HEgs & an
T TE 37
(a) SATHOTH THFAT H arfash o & LA |
TN AT @l

(b) Teul § AN R 31 ®Y @ioHT|

(c) a1 & fredi § fagumr g e & e
Ealsitceifl

(d) Hedf § e &l &1 AT HEAT|
Ans.(c):ﬁﬂ%ﬁéﬁﬁﬁw%ﬁﬁﬁﬁgﬂmm
ST & EHl T SReT T e & G2 § g
T g1 SEfh 3 fawed (a), (b), (d) fopedi & wud
T Wi & el § w7 €

PART-IV
Language-II : Hindi

frrefafaa Teier @ ugew U® T weE (ueA
TEET 121 | 128 ) & HEH IUYTh ST AT TIehed
= T
AT Gaeet @ efeats @ seueEe S SR
¥ 3Tt & o) S 3R T 4, W:@ Fﬁﬂw
T o1 i P Geft R ST F vHe HH F forw o
AT IIE, FWE fheg &l § W@ R # AgeE
HAT & AT Y F HeHBRI Hell, T H B Fadr
2 a1 ST U2 et | T e S i wiferat @
IE T el S Siaies I3 & 21 anel T & s
anfearedt debsioh el 8, fgerr S wfedt geet gam
AR Feebr = ST ae W, 9, e, M
%@Taﬁaﬂﬁfmaqﬁaa died T T 2 oA A
méﬂ%mn‘éﬁma?ramﬁé‘fsa@rm%
aRet erfearyt S o YE R o sEe AW
WW%Wl feerl anel At # SR &
me & 78, o B T F 9T H IR 3, T &
TS & el R 1 arel’ snfard Sifd wewy % <@y
i, forer 3w % fawd € S e % s A
121. WS HagAwsi it et o fow wed

(d) geher

Ans.(c):@'ﬁ?ﬁmiwwmﬂﬂﬁﬂ'&r?ﬁﬂﬁaﬁ

stfeafth & fow 9o v Femeen &1 ST g3

122. 3T TNV ¥ &T ®U § Toenrt ot quia
Teparm T 22

(a) HeT (b) %%
(c) HeHBHRI (d) aeft

Ans. (d) : 37T TV § U €9 ¥ ‘Grell el &
qui a1 T 21 anel s T e 9 &l §,
S HENIY &1 U SISl aNell g &A1 S 81 9 shell
Ik S % o fasil #1 a2
123. ‘AR’ SHeAT ol ATehd & SHhI—

(a) TT-Gar=H (b) fafsmear

(c) Tt (d) smpfr
Ans. (¢) : ‘GRS el & dhd 3T T 21 TG Hell
ARAl SN & Tt Stad &1 o g |
124. W& 8N & & A AT JUA AT

HTEAH | <k el AqT—

(a) F= (b) @t

(c) Hahd (d) w&H
Ans. (a) : 59 TR F& 4 @ 7T o 99 T &
ey ¥ b T ol
125. ‘SR’ @ a0 W o & 0 o ohd &7

(a) JA-MEH (b) TG H I FAFT

(c) Hrffesh (d) Fererd
Ans. (d) : ‘TA AT 39 § T4 & fow sl e
A 9| el el ey sEed w SER | A S
126. 38 | T 9Teq TR &—

(a) T (b) ZarEh

(c) W (d) g=xdm
Ans. (¢) : &3 T ey § ¥ W' = G TG &1 &b
g, AR, GraXdT WFarE S F i S ¢
araaTes HAT— 9 6 v § @& A 9w &
o, EYM Al W9E B AY Bl 8, 3W Wi §
FEd &1 STH- Jer, $HHE, T, gel, e, g
ERIIEY
T VR AT faemer 21 5 faemr & gr g A
AT % U7 S, HR, TT T I A S F A
B TR AT AT Fed &1 - e, g, e,
9, 3, W s
127. ot =t wet wftr-faese g—

(a) Fmm + S (b) ol + &4

(c) = + & (d) fetiss + 49
Ans. (¢) : TR &1 9E dfu-freee fm + e @
ara: g &Y = gfy gnf
o @R wir- afg 5 49y & e @ & siftm emR
o, 805 %, 3 B KA IR T A ad TR GUE
% Tgdl 3N § aEl vl g A1 < Ifw @t ql e
& @ S Se- @, geeem, fdw, e

B

128. 'STYeRt’ TersTaRTY AT ATHERTUT 3T §-
(a) T foow & A9 W
(b) STfEardr Sfq & MER R
(c) 3THT & THR T

(d) W6 TR & STHR T

Ans. (b) : ‘TR FEHN HT AHROT FERIY H AR

‘STt S & MR W g 21
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frrefafaa e wr gt U8 T gvE (U
TEET 129 ¥ 135 ) & GoW IUYTH ST AT [Iheq
@ giwl

gt ofiald et @ ad fag 21 e & s o
SR T T IIH 9% &- UF 9K 9 A1 IR B TR
W I Y I ad U AR faetfger e 81 g
A e T § & e G pansll & fha & el
Froeht ¥ et 21 R & s e ¥ dEm sa &
g Tt -t @ A & Sfew 31 S A9 E, 3
S = 31 T g oes i Fe § 6 399 g
0 3aw ¥ @W W F fw #@ W E
T TH U Yo 9 § 5 3HH Ve R 3@ P Jan
W @ Hehd © WU % fTC Her g9 o9 F 399 9
I I fo TS W 81 AT g9 3T I &
Pl H SAHEEW T GAMT §1 98 g1 Had & gY-"i
s @ # wEe o 2 @) i 98 S @
fefi-weht ¥ a8 i W & o g9 @ 9 7 o
YA @ AT, 3 T aTe WY T 2

129. ofadt 3T F e Afirea™h It Bl
(a) &t (b) ¥
() 39 (d) &=
Ans. (a) : TS & YR W fad 3meg i g9

e Fd 21 & il 3R 1 el fug €
130. Y TIRT i 31T 3Tk Bt &7
(a) &G Tt w S
(b) 3@ T aTe A B
(c) BIR 33 aret o
(d) e aTet o
Ans. (a) : ‘TG a1l ST B ST AR A 21 T A
9 o TR B 3T W d el ¥ 3t e 2
e s1fres atE & g6t I & ey et
131. 3T ! UoIeT S hgl 9T &, Fifeh—
(a) T8 IO Y T HIA B
(b) T Tk 3 3@ F SRS HI ATS Febel &
(c) &8 W I S T &
(d) 78 S % 3 & g9 ¢
Ans. (b) : 3THE I Jac 9 el 1 &, s ‘a8 Wb
R W F IR F A THAT 21
132. TEIVT & 3MUR W od13U {6 ool & HaH o
ferer a1 =T &= WA STt 38—
(a) S 3R (b) 3fe@ ST
OEEMEEE (d) 3fd Hererar
Ans. (a) : T & MR W M 3@ & g & Gaf 7
S W T 81 UH g o@s & e § % S
ToTa & 3 q I H % Fo B Sgfead B A 8
133. 2T=sT e Tt Al 9T AT §72
(a) & 3R o fore
(b) a1 3R gA S THI
(c) Zar S g8 W qumst
(d) @ iR =AM FHTT BT E

Ans. (¢) : 3791 99 UM H ‘Gal A GG B WA &
21

134.

‘Ere-wry’ W W w6 A i
(a) FHIT OERRIEIE]
(c) wgife (d) ToIed
Ans. (b) : ‘Tg-TY H ‘SeriaE’ G 2|
it gu— serdiaE §He ¥ qd 98 Yy g
2 991 98 =5 & g 81 S9- ufd, 39, gEd, e,
W, o, A gl Wfawd, SUFd, FEssiad, TEF,
qTH |
Ae— & T F A0S G T@l T quE g
SHH- ATA-oTed, STd-aTd, HIg-91g e |
HHIRT TH— 39 Y H i W 98 &= &l 2
g7 39 TH U T UG P ARAT (FY, T, MER, 90|
@g WA Al 8| - AT, S
SEelife TaE— T9H G U= STWYH &Id &1 ST b
HRUT A IR F e G S g o fosher 8, o9& =
81 e ord S fshe € 9% R T e 9 A
F T &% 2 31 81 SU- <IH, FHAU, HHAH,
HIe IO g
135. ‘9% vt e g AT’ are B [Eifehd vTeg

3

(a) forgroor (ORERIENEL

(c) foram (d) wfersoT
Ans. (b) : ‘T ¥¥ WY T TN G H [Wifhd ¥R
e fargoor @1 S wies fpan Y feriar & €, 3% 8w
fopa fergmooT et €1 -
(i) 7@ T At 7|
(i) 7 e T g S
T dea 3wy fRa @ wefE as wee fRer &
FerQIoreT e &1 81 31 Wy 2 6 Y wiss T ferir 2
136. g frem fifer 2020 o faeeft vt w@—

wHt o TeAET Wt o BT H YT Hl

RER]

(a) F9TT 97 & o F w9

(b) IR awisti % &9 §

(c) ATEEIE ASTHA & T & &7 §

(d) reret foepr & i & &9 §
Ans. (b) : THF fwen Hifq, 2020 # fadeh wmel S@-
FftgA, Soe, o€, S, Ww el s ' %
g Y s el % w9 H e & T g1
form #2020 9 & fer Ay 8, /9 9T TWER
Z 29 A 2020 FHl A R T AR Af e
T %, HEI H St areh gl s o w
3menRa 81 NEP 2020 faRsft vl &t sifefes ameit &
®Y F AT g2 HA 2

............
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137. s & wen foremeff gefter wmer &% ww o
TAATAW hl T § AT Tk a8 H wemw W
IUCTeE] HTHT oh ATEN AT TRE R fehamstt &
BT 30 sie 3w ar T g 8 %1 g fee
®Y Y TET AT 87
(a) 9T 3TfeEH
(b) T8 3Tl
(c) HTST Bl [T
(d) STHAHS TG

Ans.(a):%ﬁ?ﬁﬁﬁmgﬁﬂ?ﬂqﬁmﬁ%mﬁ

TN I AN & 9T UF I F Feqr H Iuch A

I qYT IR RS % g SH aeH 3 e

Ay 81 TS 7, a8 el § i Sie & uee o

T FRAT— R § s @ S R SR %

e & Sl Stee Fert 81 W & ged § off 7

I @] B 2, fheg el o AR F A %

I & T €, FEl W S AR W % JaArE qo

74 @ g arel amE s Rl § & geE

21T 8, SEIT I & SRia g e T ||

TSRl % STTER T ARATH—  gEaE 3R

R % ER, ‘9 # Ha W fawe $w I &

g g1

T b STTER, “AreH H A G Y HA ST

Bt & Fo A wiess § v § famme A 817

Ans. (b) : =T Y= # FrEifafas I S A0 &
TR 1 3R I TEEE O % a0
3T FC R qdT AW b Ys §T F o IR A
Teell Rl 1 AY H ATe R AT HE | |

140. T 1Y FErt &—

Ans. (c) : Th Y FeHl FUAES @ & STt e
21 auidie et o # R uea, 9w seer ©E
&1 guia g1 21 auia % foIw 9 W SN st B
e Fo1 Ve Tah | T Tt 39 A, weAr A1 WH
F QU foa stf@l & W o S aviarEs @ Het
WG FEANT B
141. THT 37T UTGHER] i HET oh AGHTIHAT Ueh
Yot & w0 H &
(a) Torenfofall &t sronsti st amored qen fawel & fog
SRINT AT
(b) % wmeT &1 fwRmT-aftrm fEE A,
MY TR e, W e qgn faeeh
T St §
(c) FSeit Hora &1 Sa-t wmeedt a1 fYneyor-afery
(d) ST TN WIEAH I &Y H AGUTT GrRaAr

138. Ffafaa & @ *F-T ¢ wed @@ @t
TAUTT GHE & TR G &7
(A) Ffeat diww & a1 ¢
(B) feat wrar tfrm § anen e )
(C) Ffeat @t gt & eI I =y
(D)gﬁﬁmaaﬁaamwammamﬁ
|

(a) AT C (b) AT B

(c) AT D (d) Ca1 D
Ans. () : frefafad & ¥ el g & e &, am
et foreret & forw g & FW A 81 He
A T % SFHR A | A=Al g W gt I
Hh TET F et B fawE B 2 q9r se § qfe
IR g gl & & & e g 81 ot Wy
3 o5 feelt A o 1 e #) S 8

Ans. (a) : 99T STFAT TGFGE] I Hell & TgHIHT Teh
WHfT % &9 § el & aqmew qor fawei # fag
YA FH F ®F F JE ST S| g B o T =AfRe
YRS A Y AR AT F WA w2 o §
TRt T e s wivE 3 g § o g
142. Toreneff = & 3w wTEl ¥ TR € AET

% 39 SUNTH ! fohE &0 | ET ST 87

(a) 34X 3UTH

(b) Hfshar IumH

(c) TR geE

(d) =T T
Ans.(b):mzﬁ@@?%mmﬁﬂﬁ'@%lﬁ@?
% TH UMY B GHAT SUMW & &Y § ST S R
TG iR & AT ¢ STem-37am 97 €, lfsh gt =l

139. SATRIUT G | hrafeaiereh F= aht

BT H WET A€ BN

(a) 9 G & fow et gfedt @ fervao

(b) ST % THR H AN B AN I FAA
FH & qlht H qHH

(c) =T & fel &t digar qor O § g
HET

(d) T TS § O ARE ®9 R TR
&, B gug

..........

# gdeled, oTeEe # wiee R S 81 o § S
g fhat oA € 9et e Wihar UM 21

AT gaor@a— T Rewr § 59w R ot
TAH B LS T3 AG G F TG A ¢ Al 59
W%%%Wmaﬁwg@&a iﬁab_{ﬂT%Q_o[
A G H MER W YG ®9 F forwar 2 IR
TG T & |

R G- dafhs 3T FI fora a1 ARET
Heell i foreT AR o & |
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143. U TfeTeRT 3T+t el &l IR-9IX & W9g o
siedt §1 a8 e wug Wi fawer/vidw ¥ §
= W 3% 9 e ° forgs qor o aan
HTeh Tt HET o WE TEIA HET 2
T WfEeh Tfafers st o whed &7
(a) 998 T (b) &1 FA
(c) T et (d) RS et

Ans. (d) : TF ol Tl Fem B IR-AR & TR |

it 81 98 S e I fave/ v & @ B W %

@ 7@ & forea qon o d9R w36 ot Fen % g

TET B 2| 39 e Tty S uREsen S Fad

2| afEerT e 3 Tfafafiet & s gwer @ S et

T emaisl, wfEl, wfeTa ewWE SR gfEen @

I Tk AT L, FHIT FH 3 GE H el

HE F AR @ 1 Ao ah e R

feam ST 21 RS S 1 e 3T haet gRem &

TeAiH HTAT T ¢ afceh TR AR B oA 2|

144. Tr=fafaa w9 & y&R @t fofg ®0 o w0
T 872
FHEUAT AT TR T Fer § T T gA §
fom & 3t U rut et sl St ° fafan)
(a) fqaoTTs e
(b) Ifee T
(c) SHAFITHF TG
(d) TEIE G

Ans. (b) : FAT FINT F TH FeHt § 39 TF T &,

faT & ofd § oot wasti & sl § fafew 39 yeR

1 G TR W@ HEel 2

145. ehferar o TTRT0T-TRATH T T 3299 &-

(a) 3 qAT UG HEAT
(b) Hfaar oG F FeA GraA
(c) W ey

(d) SATHOT TAT VTeETSA HIGHT

Ans. (a) : BT & rw-afrm &1 7= /YT ‘e

T GUEAT LA B | il T b1 oo AT WegAT 6

1 iUy Sfamr & sFmd & @ed WHEE & Wifd g,

Ffaa § WY & @EY F g & T 39 39 34

it § afc ghd © AfeARs @ Gied, wEl @& gl

3R FEm 1 did | o W § s Rr # SR

A I e TR 2

146. TST WP wem W renfde ¥ Uty § R X
WTOT § AT WIT & §1 h1d il Tg &—

(a) 9T & ®G H G

(b) ST ST I[EAT o TN AT HEAT

(c) 9T % T Hear

(d) ST FHT 3T
Ans. (c) : 9T #t FeN § Renfdl I erdem & Sl @ 6
F 9T H qAT 9 % HY HE R HA-HT H 9T g

Gefed 39 YR & TfafafrEt 9 & 9g Gernadr
Bled

147. U ‘YT Urgd-wrElt’ §

(a) TEF-THF F AEH W foEt W uEE-
A/ FATHS A

(b) Had § & T A qeg-am

(c) Hifed @ ¥ yuld: ®qiaRa o aaE T
RICRRSIEE]

(d) forndf grr wem & & w9 § fordt 7w
3R fom

Ans. (b) : T ‘TS wgg g g ¥ off 7 o
eE-arE 81 g uigg gl e g feifa

Ted I T4 NCT & TS @ W STed g 2|

148. SMYURYA 3fd: TAfTher TIUUCHSE  hiITA
(BICS) Haifera g—

(a) 3 foa)i =t "@ufod & & fau wmr &)
YT Bl 7

(b)gﬁﬁmm%mwﬁwﬁ

(c) TTE HIUUT % fIC AT Y SAETHbAT Bl 2
(d) TuSUTCEes T fYTeyoT

Ans. (c) : STHA 37d: Jaftheh GITUNHS Hoel (BICS)
Gefd OO GYYUT % 7T W1 S SYEvEehar gl gl
TEWO HY FER F HAEE-TEE i TE 30 foER
¥ AR a% o alh ¥ WEH # Fen g1 g
e § o SARRAT HI TIET AT ST Tl ¢ 1 SR
T8 el Td iyl & e Terar 4 &9 379 fomn 3

Afthal % A ¢ |

149. ITHT-3TTeheT Heiferd &—
(a) fomenfai & Suafsy & A= &
(b) em ¥ forenfat &5t goft & g FE I
(c) 3% TRl 3feraT AMIHS SheT HT TG
(d) Tt = AeT YT ST AGH

Ans. (d) : “9TT-3The” el 5t arr SEoTar 1 A
FAT &1 AT A H e H ILYT S Bl 2|
i R sferm FRisT § guR & d9r sEl A
STEATIH HI JRUSY JIH FT 9 DT H AR Haiferd
HSATA HI TG HET M| 3 WY 2 6 A0 MHeH
foreeff & o SfoTer 1 A9 T 2

150. ey |rmft ¥ Geiftra arer fraer’ e §72

(a) & AT ST 91T SR WA A9 R

(b) TeREe, ITAROT, SATHOT SN |

(c) frarell qam sah wfshamaii &1 SrReeieneoT|

(d) o e S AT WA 39§
Ans. (d) : ‘TeF Gl @ defyd o fEw =g @ S
ar P qOr GO WA 1 21 Sl 31 faehey
(a), (b), (c) 9T fEaw & Tl # e/ 2
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Central Teacher Eligibility Test (CTET) 2021

Junior Level (Class VI-VIII)
Solved Paper with Explanation

(Exam Date : 17.01.2022)

PART-I
Child Development and Pedagogy

1. represents a specific time when
children are particularly susceptible to certain
kinds of stimuli in their environment.

(a) Sensitive periods (b) Explicit periods
(c) Plasticity duration  (d) Mental stagnation

Ans. (a) : Sensitive periods are periods of psychological
development in the child. This period is a time of]
limited duration. During the sensitive periods, the child
has very powerful capacities. The child is able to do
great things and make very important acquisitions like
language and movement.

Sensitive periods represents a specific time when

children are particularly susceptible to certain kinds of]

stimuli in their environment.

2. Assertion (A): Comparisons among children
can very accurately assess a child's
developmental progress
Reason (R): The pattern and sequence of
development as well as the rates of development
are the same, for all children universally
Choose the correct option.

(a) Both (A) and (R) are true and (R) is the
correct explanation of (A).

(b) Both (A) and (R) are true but (R) is not the
correct explanation of (A).

(c) (A)is true but (R) is false.

(d) Both (A) and (R) are false.

Ans. (d) : Teacher assess children's progress by
analysing their observations and deciding what they tell
him, not with comparisons among children which can
accurately assess a child's developmental progress. The
pattern and sequence of development as well as the
rates of development are not the same, for all
universally. So, both (A) and (R) are false.

3. Secondary socialisation maps the period in
when the child begins to attend

formal institutions such as the school.

(a) infancy (b) early childhood

(c) middle childhood  (d) adolescence
Ans. (b) : Secondary socialization refers to the social
learning that children undergo when they enter other
social institutions, like school. Secondary socialization
maps the period in early childhood when the child
begins to attend formal institutions such as the school.
Early childhood is the period of the most intense and the
most crucial socialization.

4. In which stage can children work with
hypothetical statements and explore logical
relationships between statements and have the
ability to cope with abstractions such as
proportions?

(a) Sensori-motor Stage

(b) Pre-operational Stage

(c) Concrete Operational Stage
(d) Formal Operational Stage

Ans. (d) : In formal operational stage can children work
with hypothetical statements and explore logical
relationships between statements and have the ability to
cope with abstractions such as proportions.

The formal operational stage is characterized by the ability
to formulate hypotheses and systematically test them to
arrive at an answer to a problem. The individual in the
formal stage is also able to think abstractly and to understand
the form or structure of a mathematical problem.

5. Which of the following is a critique of Jean
Piaget's theory of cognitive development?
(a) Development of children is dependent on
their socio-cultural context.
(b) Children are active beings.
(c) Children's thinking is qualitatively different
from that of adults.
(d) Development of children takes place by their
acting upon the environment
Ans. (a) : Development of children is dependent on
their socio-cultural context is a critique of Jean Piaget's
theory of cognitive development. Vygotsky emphasized
the collaborative nature of learning by the construction
of knowledge through social negotiation. He rejected
the assumption made by Piaget that it was possible to
separate learning from its social context.

6. Jean Piaget and Lev Vygotksy have shifted the

understanding of learning as a

process to a process.

(a) active, passive

(b) passive, active

(c) mechanical, behavioristic

(d) behavioristic, mechanical
Ans. (b) : Jean Piaget and Lev Vygotsky have shifted
the understanding of learning as a passive process to a
active process. Learning is perceived as an active, not a
passive process, where knowledge is constructed, not
acquired. Both believe that children play an active role
in discovering and understanding schema and that
children are active learners and that exploration and
discovery is necessary for cognitive development.
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According to Lev Vygotsky, the basis of
learning is -

(a) Social interaction

(b) Reinforcement

(c) Drill and practice

(d) Changes in the structures of schemas.

Ans. (a) : According to Lev Vygotsky, learning has its
basis in interacting with other people. Once this has
occurred, the information is then integrated on the
individual level. For example, one culture might
emphasize memory strategies such as note-taking.

8. At which stage of Lawrence Kohlberg's moral
development theory do individuals believe that
society needs to update the rules over time?

(a) Obedience and Punishment Orientation
(b) Good boy-good girl orientation

(¢) Social-order maintaining orientation
(d) Social-contract orientation

Ans. (c¢) : Stage IV (Maintaining the Social Order)—
Judgment of morality is based on one's duty, law and
social order. Actively maintaining the current social
system ensures positive human relationships and
societal order.

9. Which of the following is a correctly matched
pair of the type of intelligence and the end state
possibilities as per theory of Howard Gardner?
(a) Type of intelligence : Linguistic; End State
Possibility : Accountant

(b) Type of intelligence : Spatial; End State
Possibility : Likely Architect

(c) Type of intelligence : Bodily - Kinaesthetic;
End State Possibility : Singer

(d) Type of intelligence : Natural; End State
Possibility : Teacher

Ans. (*) : The type of intelligence and the end state
possibilities as per theory of Howard Gardner—
Linguistic Intelligence— Linguistic intelligence gauges
someone's ability to use words effectively. Great careers
for people with linguistic intelligence include public
speaker, lawyer, journalist, politician etc.

Spatial Intelligence— Spatial intelligence refers to
people's ability to view or visualise the world in its
three dimensions. Great careers for people with spatial
intelligence include architect, engineer, pilot etc.
Bodily-Kinaesthetic Intelligence— Bodily-Kinaesthetic
intelligence refers to mind and body co-ordination and
is very important in athletes. Great careers for people
with bodily kinaesthetic intelligence include dancer,
athlete, coach.

Naturalist Intelligence— Naturalist intelligence refers
to the ability to read and understand nature. Great
careers for people with naturalist intelligence include
botanist, gardener, astronomer.

Note— According to answer key, bonus mark awarded
to all the candidates in this question.

(c) sets arigid and standard curriculum
(d) uses assessment to rank the students

Ans. (b) : Student-centered learning, also known as
learner-centered  education, broadly encompasses
methods of teaching that shift the focus of instruction
from the teacher to the student. In a child-centered
education, the teacher understands the child and the
process of learning in a socio-constructivist manner.

11.  According to National Education Policy 2020,
the progress card of the students
communicated to the parents would be-

(a) based on norm-referenced testing

(b) based on criteria reference testing

(c) a reflection of relative performance of
students in comparison to classmates

(d) a reflection of the progress as well as the
uniqueness of the student

Ans. (d) : According to NEP 2020, the progress card of]

the students communicated to the parents would be a

reflection of the progress as well as the uniqueness of the

student. According to the New Education Policy 2020 the
progress card of all students for school-based assessment
which is communicated by schools to parents, will be

completely redesigned. The progress card, a holistic, 360-

degree multidimensional will replace the student's current

report card, New Education Policy says.

12.

To ensure retention of students from socio-
economically disadvantaged groups, National
Education Policy 2020 proposes the curriculum
and pedagogy should be

(a) centered around exams

(b) centered around textbooks

(c) engaging and contextual

(d) standard and uniform

Ans. (¢) : The new education policy will : Increase
focus on the skill improvement and competency
development of the students. To ensure retention of]
students from socio-economically disadvantaged
groups, National Education Policy 2020 proposes the
curriculum and pedagogy should be engaging and
contextual. NEP 2020 aims to ensure that no child loses
any opportunity to learn and excel because of the
circumstances of birth or background.

13.  Sex

is while gender is

(a) biological; socially constructed

(b) socially constructed; biological

(c¢) cultural; social

(d) social; cultural
Ans. (a) : There is a difference between 'sex' and
'gender'. Sex is 'biological' while gender is
'psychological’, 'social', or 'cultural'. A person's gender
can be different from a person's sex. Gender is thus
'socially constructed' in the sense that, unlike biological

10. In a child-centered education, the teacher- sex, gender is a product of society.
(a) gives direction while the learners follow | 14.  Which of the following tools should be used by the
blindly teachers to assess children?
(b) understands the child and the process of (1) Work in groups
learning in a socio-constructivist manner (i1) Classroom participation
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(iii) Portfolios
(iv) Presentations
Options :
(a) (iii),(iv) (b) (i), (iii),(iv)
() (1),(iii),(iv) (d) (1),31),(ii1),(iv)
Ans. (d) : Assessment tools aid in assessing and
evaluating student learning and can provide different
options to assess students beyond the traditional exam.
Several tools are available including grading rubrics,
work in groups (peer assessment), portfolios,
presentation, surveys, classroom polling or participation
should be used by the teachers to assess children.
15. Which of the following statements about
language and cognitive development is correct?
(a) Language plays an important role in cognitive
development
(b) Language does not play an important role in
cognitive development
(c) Language hinder the process of cognitive
development
(d) Language and cognitive development are
independent processes.
Ans. (a) : Lev Vygotsky believed that language was one
of the most important psychological tools that effects
children's cognitive development. Language plays an
important role in cognitive development. We use
language to learn new ideas, to talk about our thoughts
and fears, and interact with those around us.

16.  Which of the following has been promoted by
Right of Persons With Disabilities Act (2016)?
(a) Compulsory special education for persons
with disabilities.
(b) Discrimination in
based on disabilities.
(c) Denial of Right to Education for persons with
disabilities.
(d) Equality and non-discrimination in all spheres
of life.
Ans. (d) : Equality and non-discrimination in all
spheres of life has been promoted by Right of Persons
With Disabilities Act (2016). It ensures that persons
with disabilities enjoy the right to equality and non-
discrimination in all aspects of life. They have the right
to life with dignity and respect for their integrity as
equally as other to.

17.

assessing entitlements

Inclusive education helps in meeting the needs

18. Dyscalculia is primarily associate with
difficulty in:
(a) reading the text
(b) performing mathematical calculations
(c) critical thinking
(d) communications skills
Ans. (b) 'Dyscalculia’ is a mathematics-related

learning disability which : affects the ability to perform

mathematical calculations and understanding of]

numbers.

e Hinder the Ilearner's basic understanding of]
numbers.

e Affects learner's ability to perform mathematical
calculations.

e Makes learners unable in identifying mathematical
symbols like +, x, > etc.
Which of the following practice will hinder the
successful inclusion of students with speech the
language disorders?
(a) Break tasks and assignments to short, easy-to-
manage steps.
(b) Discourage the use of visuals to support
expressive language skills.
(c) Use of pre-planning strategies for oral and
written tasks.
(d) Reduce auditory and visual distractions in the
classroom.
Ans. (b) : Speech and language disorders can affect the
way children talk, understand, analyze or process
information. Discourage the use of visuals to support
expressive language skills will hinder the successful
inclusion of students with speech the language disorders.
20. In order to cater to the needs of students with
giftedness, a teacher should avoid:

19.

(a) allowing students to pursue independent
projects.

(b) considering  flexibility  for  curriculum
acceleration.

(c) implementing a uni-dimensional curriculum.

(d) providing stimulating enrichment activities.
Ans. (¢) : Gifted students need knowledge and skills
beyond the general curriculum. Meeting the needs of]
gifted students does not need to be an all consuming
task. In order to cater to the needs of students with
giftedness, a teacher should avoid implementing a uni-
dimensional curriculum.

of 21. Assertion (A): Before starting teaching of a
new concept, a teacher should review
(a) eachand every student prerequisite knowledge. This will help students
(b) students from religious minorities only bring to mind the information they will need to
(c) students with disabilities only understand new concept.
(d) students with giftedness only Reason (R): Corporal punishment should not
Ans. (a) : In an inclusive classroom, general education be practiced as a strategy to rectify the
teachers and special education teachers work together to undesirable behaviour of learners.
meet the needs of all students. Inclusive systems Choose the correct option.
provide a better quality education for all children and (a) Both (A) and (R) are true and (R) is the
are instrumental in changing discriminatory attitudes. correct explanation of (A).
Inclusive education helps in meeting the needs of each (b) Both (A) and (R) are true but (R) is not the
and every student. correct explanation of (A).
CTET Class (6 to 8) 2021 (Exam date 17.01.2022) 36 YCT




(c) (A) is true but (R) is false.
(d) Both (A) and (R) are false.

Ans. (b) : Prerequisite knowledge is the foundation
upon which new knowledge is built and scaffolded.
This will help students bring to mind the information
they will need to understand new concept. A corporal
punishment or a physical punishment is a punishment
which is intended to cause physical pain to a person. When
it is inflicted on minors, especially in home and school
settings, its methods may include spanking or paddling.
When it is inflicted on adults, it may be inflicted on

prisoners and slaves. So, (A) is true but (R) is false.
22.  Any pedagogy which considers subject-matter

as an end in itself is likely to yield

among students.

(a) appreciation for mastery

(b) desire for innovation

(c) motivation to learn

(d) resistance to explore
Ans. (d) : Pedagogy is the study of teaching methods,
including the aims of education and the ways in which
such goals may be achieved. Any pedagogy which
considers subject matter as an end in itself is likely to
yield resistance to explore among students. The subject
matter taught also has a marked influence on the total
teaching situation.

23.  Assertion (A): Students should be taught self-
regulatory knowledge about when, where and
why to use variations learning strategies.
Reason (R): A learning strategy is more likely
to be maintained and employed if students
know when, where and why to use it.

Choose the correct option

(a) Both (A) and (R) are true and (R) is the
correct explanation of (A).

(b) Both (A) and (R) are true but (R) is not the
correct explanation of (A).

(¢) (A)istrue but (R) is false.

(d) Both (A) and (R) are false.

Ans. (a) : Self-regulated learning refers to one's ability to
understand and control one's learning environment.
Students should be taught self-regulatory knowledge
about when, where and why to use variations learning
strategies. A learning strategy is more likely to be
maintained and employed if students know when, where,
and why to use it. The main goal of learning strategies is
to get students to become more effective learner. So,
both (A) and (R) are true and (R) is the correct
explanation of (A).

24.  Which of the following is an example of a meta-

cognitive skills?

(a) Evaluating process used by oneself in solving
a problem.

(b) Identifying
pictures.

(c) Knowing the chemical formula of Methane.

(d) Recalling the chronological order of a

the difference between two

Ans. (a) : Metacognitive skills allow you to organize
and evaluate your thought process related to learning and
problem-solving. Another way to define metacognitive
skills is your self-awareness regarding the information you
do and don't know and how you work to recall or retain
knowledge regarding a particular subject.

25. A teacher intends to facilitate procedural
knowledge among her students. Which of the
following question is appropriate for this purpose?
(a) How to solve an oxidation-reduction
equation?

(b) What are the components and structure of
DNA?

(c) Which planet is closest to the sun?

(d) Who wrote Indian National Anthem?

Ans. (a) : Procedural knowledge (also known as
knowing how, and sometimes referred to as practical
knowledge, imperative knowledge, or performative
knowledge) is the knowledge exercised in the
performance of some task. A teacher intends to
facilitate procedural knowledge among her students.
How to solve an oxidation-reduction equation? is
appropriate question for this purpose.

26.

To make learning meaningful for students, a

teacher should:

(a) emphasize on rote-memorization of text-book
content.

(b) employ stimulus-response
condition behavior.

(c) frequently use tangible rewards to motivate
students.

(d) Provide opportunities to think and reflect on
experiences.

Ans. (d) : A teacher supports and encourages a student's
commitment to initiate and complete complex, inquiry-
based learning requiring creative and critical thinking
with attention to problem solving. Teacher provides
meaningful learning opportunities for students. Teacher
challenges students to think deeply about problems and
encourages/models a variety of approaches to a solution
and reflect on experiences.

27. A teacher asked a student to speak his thoughts
to himself when he was somewhat stuck in
solving a given problem. Soon enough after
doing so, students exclaims 'I know the answer
now!!" Which problem-solving s strategy has
helped the student in this case?

(a) Functional fixedness

(b) Mnemonics

(c) Response set

(d) Verbalization

association to

Ans. (d) : In this case, verbalization strategy has helped
the student to problem solving. Verbalization, as used in
solving problems, is the act of orally stating one's
thinking processes. It is a component of explicit
instruction and can be used by teachers to model a

particular dynasty.

cognitive or metacognitive process used in problem
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solving through "think-alouds". A think-aloud allows
students to hear what the teacher is thinking as he or she
demonstrates how to use a problem solving or a
metacognitive strategy.

28. Which of the following statement is NOT
correct in context of misconceptions formed by
students?

(a) Misconceptions can be used constructively by
a teacher in the process of learning.

(b) Misconceptions characterizes the initial phase
of children's understanding of certain
concepts.

(c) Misconceptions clearly indicates children's
inability to learn anything new and advanced.

(d) Misconceptions represents children's
intuitions about the processes they observe
around them.

Ans. (¢) : Students generally are unaware that the
knowledge they have is wrong. Moreover,
misconceptions can be very entrenched in student
thinking. In addition, students interpret new experiences
through these erroneous understandings, thereby
interfering with being able to correctly grasp new
information. Misconceptions clearly indicates children's
inability to learn anything new and advanced is not
correct in context of misconceptions formed by
students.

PART-II

MATHEMATICS AND SCIENCE

31.

(a) 198
(c) 132

The value of

768 x~/3267 N
J144
(b) 128
(d) 134

Ans. (¢) :

V768 x+/3267  \768x3267

V144

V144

12x12

\/(256><3)><(121><27) _J16x16x3)x (11x11x3x3x3)

12x12
_16x11x3x3
12
=132

32. Ifx

_?zand y =_T3 , then (x—y)_l

+( x'—y?! )_l is equal to

(a) -8
5
© 2

(b) 2
7
(d) 5

29. Which of the following emotion positively
impact learning?

(a) Anxiety (b) Boredom

(c) Fear (d) Hope

Ans. (d) : Hope is the positive emotion we feel when
we envision a brighter future and often helps us through
hard times. James Averill, a social constructivist,
believes that hope does fit an emotional model. He
bases his conclusion that hope is an emotion on the
findings of a study that compared hope to two other
emotions (love and anger).

30. Which of the following set of attributions for
failure on a task is likely to motivate a student
for future attempts?

(a) Tam not intelligent and intelligence is fixed.

(b) 1 didn't put enough effort this time although I
am capable of doing so.

(c) Teacher was biased towards me and I can't
change her perception about me.

(d) This particular exam falls on Tuesday and
Tuesday is my unlucky day.

Ans. (b) : To understand their own successes and
failures, people attribute them to various causes within
and outside of their control. Explore the attribution
theory and model, the principle of locus of control, and
various types of attribution biases. I didn't put enough
effort this time although I am capable of doing so is the
set of attribution for failure on a task is likely to
motivate a student for future attempts.

Ans. (¥) :

x:—E &
3

23
__+_
3 4

[—8+9
12

-2
)

(x-y)" {—3

i

__3
YT

3

;
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(Xfl _ y—l)—] -6
(x=y) " +(x" -y ) =12+(-6)
=6
Note-This question deleted by commission.

33. If a=360 and b = 900, then (LCM of a and
b) + (HCF of a and b) is equal to
5
a) — b) 5
() 5 (b)
(c) 15 (d) 10

Ans. (d) : Factors of 360 = 2x2x2x3x3x5
Factors of 900 =2 x2x3x3x5x%x5
LCM 0of360 and 900 =2x2x2x3x3x5x%x5
= 1800
HCFof360and 900 =2 x2x3x3x5=180
LCMofaandb 1800
HCFofaandb 180

If a 6-digit number 43x82y is divisible by 72,
then what is the value of (2x-y)?

(a 8 (b) 10

(c) 12 (d) 14

Ans. (a) : If any number is divisible by 72 must be
divisible by 8 & 9.

Number 43x82y is divisible by 72 so it will be also
divisible by 8 & 9.

A number is divisible by 8 if last three digit is divisible
by 8

0,

34.

In 43x 82y
82y must be divisible by 8
Then, y =4
Number = 45x 824
If sum of digits is divisible by 9 then number will be

G-
O
LERORRORE
() =)

40 (30) 1
Nt

4°
87 x2?
_Axdxdx4x4x4
 8x8x2x2

_ 64x16x4

T 64x4

=16

36.  One of the factors of 25();+y)2 —36();—2y)2 is
(a) 7x+1ly () 17y-x

() 11x+7y (d llx-y

Ans. (b) :

25 (x+y)* — 36 (x —2y)’

=[5 (x + Y - [6(x—2y)" [ a*b’=(a+b) (a—b)]

=[xty +6(x-2y)][5x+y)-6(x-2y)]

=[5x + S5y + 6x — 12y] [5x + Sy — 6x + 12y]
=(11x—-7y) (17y —x)

So factors of given problem are (11x — 7y) & (17y—x)
Hence option (b) is correct

(x* —4)(x-1)(x+1)

also divisible by 9 37. 5 is equal to
Sum of digits =4 + 3+ x + 8 +2 +4 (x*-3x+2)(x+2)
=21+x (a) x—1 (b) x+2
Ifx=6 (c) x+1 (d x—-2
Sum of digits = 27, which is divisible by 9. Ans. (¢) :
So, value of x & y are 6 & 4 respectively (xz —4)(x=1)(x+1)
Now, 2x—y:_28><6—4 (x> —3x+2)(x+2)
3\ (3 _ (x2—22)(x—1)(x+1)
(4} X(Sj +3? (x* =2x—x+2)(x+2)
ﬁisequalto _(x+2)(x=2)(x=D(x+1)
(3} X(3) [x(x=2)-1(x=2)](x+2)
(@) 9 (b) 12 :(x+2)(x—2)(x—1)(x+1)
(C) 16 (d) 24 (X—2)(X—1)(X+2)
Ans. (¢) : = x+1
=3 2
31 &3] 232 8. If 5x—6[x+ij=1(x+1) , then what is the
4 g) 30) 3
N\ (4)° value of (5x+6) ?
[3] : (3) (a) 3 (b) 4
(© 5 (d) 7
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Ans. (b) : 41. If F, V and E represent the number of faces,
1 1 number of vertices and the number of edges,
S5x - 6(X + —j =—(x+1) respectively of a pyramid whose base is a
30/ 3 pentagon, then what is the value of
sx_gx_ 0 -X 1 (2V-3F+E)?
30 3 3
A (@ 3 (b) 4
x—— Xt ()5 (d) 6
5.3 Ans. (b) : A pentagonal pyramid has a base in the shape
=S5x-1_ x+1 of a pentagon and triangular faces formed at side of the
5 3 base.
~15x —=3=5x+5 Number of faces, F =6
_ Number of vertices, V=06
_égz :gx =343 Number of edges, E = 10
2V-3F+E=2x6-3x6+10
_ 8 —12-18+10
20 =22-18
The value of 5x + 6 = 5x| = |+6 4
¢ value ot ox - 20 * 42. The length of the diagonals of a rhombus are
——246 24cm and 70cm. What is the length of a side of
the rhombus?
: =4 : : (a) 28 cm (b) 35 cm
39. Wh(z;t 1ts9 the constant term in the following (¢) 37 cm (d) 47 cm
product: 0 ; Ans. (¢) : The length of side of Rhombus
2
(22 )
(a) -9 (b) -12 2 2
(c) 12 ) 16 =4/12? +35°
Ans. (b) :
®) 9 7 =~/144+1225
2
(ZX —3x—;jx[;—xj — /1369
=37cm
a2 7 3 7 , 9 7
=2x7x < 2X7 = 3xx < S 57 ? 43.  The interior angle of a regular polygon exceeds
63 its exterior angle by 108°. The number of sides
=14x-2x’ =21+3x’ —=—+9 of the polygon is
X
_ (a) 8 (b) 9
=21+
Constant term - _ﬂ 9 (© 10 (d) 12
40.  After giving a discount of 15% on the marked Ans. (¢) Let interior angle and Exterior angles are I &
price of an article, a shopkeeper still gains ||E respectively .
19%. By what percent is the marked price I+E=180
above the cost price? I-E=108
(a) 30% (b) 35% 21 =288
(c) 38% (d) 40% 288 .
Ans. (d) : I=—-=144
Discount = 15% . .
Profit = 19% . Interior angle of polygon
Let cost price (CP) = 100 - (n—2)x180
. B 100 + gain% n
Marked price (MP) = (—100 _Discount% ) xCP Where n = number of sides of polygon
=MX100 —(n—Z)x180:144
100-15 n
_119 0o
85 44. In AABCand ADEF, if
MP = 140 AB=DE, AC=EF and BC=DF
Required tage — 140-100 <100 Then which of the following is correct?
equired percentage (a) AABCZAEFD  (b) AABC =ADEF
=40% (c) AABC = AEDF (d) AABC =z AFDE
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Ans. (¢) :

B CD F
AB=DE
BC =DF

& AC=EF

triangle) A ABC= A EDF

Hence by SSS congruency rule (if three sides of a
triangle are equal to three side of another

45. In AABC, the bisectors of ZB and ZC meet at
a point P. If ZBPC=102", then what is the

measure of ZA?

(a) 22° (b) 24°

(c) 28° (d) 32°
Ans. (b) :

A
A
B C

Given,
ZBPC=102°

ZPBC=ZPCB (BP&CParebisectorsof /B & £C)
/P + /PBC+ £PCB=180°

/P+2/PBC=180°

102+2 £ZPBC =180°

ZPBC:@ =39°

ZB=2/PBC £ZC=2/PCB

Ans. (a) : Given data,
11, 14,9, 30, 35, 17, 19, 28, 23, 48, 36, 30
arrange them in ascending order
9,11, 14,17, 19, 23, 28, 30, 30, 35, 36, 48
_ 9+11+14+17+19+23+28+30+30+35+36+48
12

Mean

_ 300
12
=25

th th
Median= l 2 term + ﬂ term
212 2

th

:[6‘hterm+7 term}x%

23428

2
=255

Mode =30 (most repeating number)
Sum of mean, median & mode =25 + 25.5 + 30
=80.5

47. A box certains cards on which numbers 31, 32,
33,..c.ee ,69 and 70 are written (only one
number on one card). A card is drawn from the
box without looking into the box. What is the
probability that the number on the card drawn
is NOT a prime number?

9 19
(a) 0 (b) 20
1 31
©) 3 (d) 20

Ans. (d): Prime numbers between 31 & 70
31, 37,41, 43,47, 53, 59, 61, 67 =9 numbers
Total numbers between 31 & 70 = 40

=2x39° =2x39° Probability that the number on card drawn is
/ZB=78° ZC=78° prime :410
ZA =180° —(£B+ £C) Probability that the number on card drawn is not
=180°—(78+78) I 9
= 180°-156° p 40
/£ A =247 31
Shortcut- = 20
o ZA
<BPC=90 +7 48. A wire is in the shape of a circle of area 154
JA em’. If it is bent in the form of a square, then
102°=90° +T what is the area of the square?
12° _ZA (Take7r=%)
2
- (a) 144 cm® (b) 169 cm’
ZA=24 (c) 100 cm? (d) 121 cm?

46. The sum of mean, median and mode of the

data:

11, 14, 9, 30, 35,17, 19, 28, 23, 48, 36, 30 is
(a) 80.5 (b) 78.5

(c) 76 (d) 75

Ans. (d) : Given,
area of circle = 154 cm’
mr’ =154

erz =154
7
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, 154x7
r° =

22
r=7cm

It is bent further in form of square,
circumference of circle = circumference of square
2nr=4xa
2nxT7=4xa
14w
a= ——

2
Area of square = a° = (V}Tnj

- 14><22J2
7x4
=11
=121cm’
The length, breadth and height of a cuboidal
box are in the ratio 6 : 4: 3 and its volume is
4608 cm’. Its lateral surface area (in cmz) is
(a) 1152 (b) 1246
(c) 1104 (d) 960
Ans. (d) : Given,
f:b:h=6:4:3
Let, ¢ = 6x,b=4x, h=3x
Given, volume = 4608 cm’
f xbxh=4608
6x x 4x x 3x = 4608
72x° = 4608

3 4608
X = —=
72
x:i/a:4
Lateral surface area = 2( / h + bh)
(=6x=6x4=24
b=4x=4x4=16
h=3x=3x4=12
=2(fh+bh)
=2h({+D)
=2x12x(24+16)
=960cm’

The volume of a right circular cylinder is 396
em’ and its height is 14cm. What is its curved

49.

64

50.

22
surface area (in cmz)? [Take T =7j

r= \/§ =3|cm
Area of curved surface = 2 nrh
=2nx3x 14

= 2x%x3x14

=2x22x3x2
=264 cm’

51. Which of the following teaching learning
resources in mathematics cannot be used for
visually challenged students?

(a) Taylor’s abacus (b) Tangram

(c) Geoboard (d) Geo-gebra

Ans. (d) : Geo-gebra can not be used for visually
challenged students while Taylor's abacus, Tangram,
Geoboard can be used for visually challenged students.
e Geo-gebra is one of the most innovative, open-code
math software. It is an interactive geometry, algebra,
statistics & calculus application. It uses an exploratory
approach to teach concepts of geometry.

52.  Which of the following is an example of
teaching arithmetic using heuristics method
according to National Curriculum Framework
(2005)?

(a) Finding the sum of three or more digit
numbers by column method of addition

(b) Rounding off numbers to the nearest
multiples of ten in order to add, subtract or
multiply etc.

(c) Teaching the use of electronic calculator to
students

(d) Making students memorize multiplication
tables for multiplying large numbers

Ans. (b) : A heuristic approach is a problem solving
method that uses a practical method or various shortcuts
in order to produce solutions that ease cognitive load of
making a decision. According to NCF 2005 it includes
examples like using trial and error, a rule of thumb,
subtract or multiply rounding off numbers etc.

53.

Which of the following methods/approaches is
NOT regarding mathematics teaching?

(a) Analysis-Synthesis

(b) Rote Memorization

(c) Problem solving

(d) Deductive-Inductive

Ans. (b) : Teaching methods of mathematics include
lecture, inductive, deductive, heuristic or discovery,
problem solving, analytic, synthetic, laboratory &
project method.

(a) 242 (b) 264 e Rote memorization method is not a method regarding
(c) 279 (d) 294 mathematics teaching. It is used in subjects that needs
Ans. (b) : Given, \ memorization.

Volume ofcyhnd;:;h i936 9(;m 54. Which of the following is the best description of

5 ideas of value based mathematics education?

mxr x 14 =396 (a) Mathematics education cannot be value free

, 39 396 396 9 (b) Mathematics education is the most valuable
ldxm 14><g T2x22 (c) Value  based  mathematics  education
7 acknowledges and incorporates social,
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cultural and political values in teaching
learning processes

(d) In mathematics examination, asking a value
based question in the end develops moral
values in students

Ans. (¢) Value based mathematics education
acknowledges & incorporates social, cultural & political
values in teaching learning process. Also the values of
mathematics education are practical value, intellectual
values, social values, moral values, disciplinary values,
cultural values, international values, aesthetic values,
vocational values & psychological values.

5S.

Which of the following sequence is correct for

mathematical modeling?

(a) The mathematical  model—Real life
problem—The mathematical solution — The
solution in real world

(b) Real life problem—The mathematical model
—The mathematical solution—The solution in
real world

(c) The mathematical  model—Real life
problem—The solution in real world—The
mathematical solution

(d) The  mathematical —model—Real life
problem—The mathematical solution—The
solution in real world

Ans. (b) : Mathematical modelling is the process of

describing a real world problem in mathematical terms,

usually in the form of equations, & then using these
equations both to help understand the original problem,
and also to discover new features about the problem.

Sequence for mathematical modeling:-

Real life problem — The mathematical model — The

mathematical solution— The solution in real world

56.

After the completion of topic “Parallelograms”
in a mathematics class, a student says, “A
square is also a rectangle and that a rectangle
is also a special type of parallelogram”. The
student is at which level of geometric reasoning
according to Van Hieles theory of geometrical
development?

(a) Level 0 (Visualization/Recognition)

(b) Level 1 (Analysis)

(c) Level 2 (Relationships)

(d) Level 4 (Axiomatics)

Ans. (¢) According to Van Hieles theory of]
geometrical development, the student is at Level 2
(Relationships) of geometric reasoning.

Level 2 (Relationships)

e The students will be able to understand the
relationships between the properties & figures.

e They can take part in informal deductive discussions
& can discuss the different characteristics of figures

(c) Ratio of number of students belonging to
different states in a classroom

(d) Monthly expenditure of a family in various
sectors

Ans. (a) : A pie chart is a circle divided into sectors that
represent data as proportions of a whole. It encodes a
category and a fractional quantity. A record of change
in temperature in a day is not a fractional quantity hence
it can not be represented on a pie chart.

58.  Which of the following involves generalization
from numbers and computation with the use of
meaningful symbols?

(a) Geometric thinking (b) Algebraic thinking
(c) Statistical thinking (d) Numerical thinking

Ans. (b) : Algebraic thinking includes recognizing and

analyzing  patterns, studying &  representing

relationships, making generalizations, and analyzing
how things change.

e Geometric thinking is the way in which students
understand the spatial relationship between and
within objects.

e Statistical thinking is the ability to understand a
situation by accurately assessing probabilities,
understanding variation and dealing effectively with
uncertainty.

e Numerical thinking or reasoning focuses on students

ability to think mathematically and apply his

complex skills.

Which of the following is NOT an example of

proportionality?

(a) 4 candies cost Rs.5, and so 10 candies cost
Rs. 12.50

(b) Ravi’s mother’s age is two times that of
Ravi’s age at present, so when Ravi will be
30 years old, his mother will be 60 years old.

(c) A car covers 8km in 3 hours at a constant

59.

speed, it will cover 12 km in 4%hours.

(d) The ratio of number of teachers to that of
students in a school has to be 2:30, so for 300
students, there has to be 20 teachers.

Ans. (b) : The term proportionality describes the

relationship among variables that are in the same ratio.

Among the given option in option (b) the relationship

among ages are not proportional.

60. According to National Curriculum Framework
(2005), which of the following is LEAST
effective to enhance mathematics learning in
the classroom?

1. Connecting concepts to real-life situations

2. Giving frequent tests

3. Using mathematical games and puzzles

4. Creating competition amongst learners

which helps them in creating meaningful definitions. (a) 1and 3 (b) 2and 4
57.  Which of the following data sets cannot be () 1,3and 4 (d) Only3
represented using a pie chart? Ans. (b) : NCF-2005, stated that the main goal of]
(a) A record of change in temperature in a day Mathematics  education in  schools is  the
(b) Percentage of marks obtained by students in a | [mathematization of the child's thought processes.
class of ‘n’ number of students Some specific aims of mathematics education:-
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e Connecting concepts to real-life situations.

o Using mathematical games & puzzle.

o To apply mathematics in other subjects

e To prepare them for the learning mathematics of]

higher classes.

61. Match the items given in column A with that in
column B
Column A Column B
(Deficiency of (Deficiency
vitamin/mineral) disease/disorder)
A. Vitamin—A (D) Goitre
B. Vitamin—B (II) Anaemia
C. Vitamin—-C (IIT) Scurvy
D. Iron (IV) Loss of vision
(V) Beri-Beri
(VD) Rickets
(a) A-IV,B-VI,C-V,D-1I
(b) A-1IV,B-V,C-1II,D-1I
(c) A-VLB-V,C-1IILD-1
(d A-IV,B-LC-1IILD-1I
Ans. (b) :
Deficiency of Deficiency disease/
Vitamins/mineral disorder
A. Vitamin A - (iv) Loss of vision.
B. Vitamin B - (v) Beri-Beri.
C. Vitamin C - (iii) Scurvy.
D. Iron - (i1) Anaemia.
E. Vitamin D - (vi) Rickets.
F. Iodine - (1) Goitre.
62. Incomplete combustion of fuels produces a gas

which is poisonous and reduces the oxygen

carrying capacity of the blood. This gas is

(a) Carbon dioxide (b) Carbon monoxide

(c) Nitrogen oxide (d) Sulphur dioxide
Ans. (b) : During incomplete combustion of fuels the
carbon is not completely oxidized so it will produce
carbon monoxide (CO). Incomplete combustion of fuels
are inefficiently and the carbon monoxide produced is
health hazard.
Carbon monoxide is a very poisonous gas that reduces
the oxygen-carrying capacity of the blood.

63.

An object of mass 200 kg is sliding on a smooth
horizontal frictionless surface with a constant
velocity of Sm/s. The force required to keep the
object moving with the same velocity is

(a) 10000 Newtons (b) 1000 Newtons

(c) 100 Newtons (d) Zero Newtons
Ans. (d) : Newton's first law states that if a body is at
rest or moving at a constant velocity in a straight line. It
will remain at rest or keep moving in a straight line at
constant velocity unless an externat force is applied to
it. Since body is moving on frictionless surface so
friction force will be zero. Hence, force required to keep
object moving with same velocity is zero.

64. Consider the following statements about a
rainbow

1. It appears usually after the rains

2. At the time of rainbow the sun is high in the
sky

3. To observe a rainbow the observer’s back
should be towards the sun.

4. In the formation of a rainbow the water

droplets in the atmosphere act as a prism.
The correct statements are -
(a) 1,2 and 3 (b) 1,3 and 4
(c) 2,3,4 (d) 1,2,4
Ans. (b) : Rainbow—A rainbow is a meteorological
phenomenon that is caused by reflection, total internal
reflection and dispersion of light due to water droplets
resulting in a spectrum of light appearing in the sky.
e [t appears usually after the rains
e To observe a rainbow the observer's back should be
towards the sun.
e In the formation of a rainbow the water droplets in the
atmosphere act as a prism.

e Rainbows can only be seen in the sky when the sun is
behind us.

65. Match the items of column I with that of
column I1
Column I Column I1
A. Algae I.Chlamydomonas
B. Bacteria II. Amoeba
C. Fungi II1. Omicron
D. Protozoa IV. Aspergillus

V.Lactobacillus

(@) A—-LLB-V,C-1V,D-1I

(b) A-LB-II,C—1V,D-1II

(c) A-1IV,B-V,C-1ILLD-1

(d) A-1LB-V,C—III,D-1II

Ans. (a) : The correct match is as follows—

Chlamydomonas - Algae
Aspergillus - Fungi

Lacto bacillus - Bacteria
Amoeba - Protozoa
Omicron - Virus

66. Suppose you are standing in front of plane
mirror fixed on the wall of a gallery. You are at
a distance of 3m and your friend is at a
distance of 4m from the mirror. What is the
distance between you and the image of your
friends?
(a) 8m
(c) 6m
Ans. (b) :

X

friend

&

(b) 7m
(d) 4m

friend's image
4m

mirror
Distance between you & image of your friend =3 + 4 =

>
r g

7m.
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67. Select from the following, a planet of solar
system which has highly tilted rotational axis as
a result of which in its orbital motion appears
to roll on its side.

(a) Mercury (b) Neptune

(c) Saturn (d) Uranus

Ans. (d) : Uranus is outer most planet of solar system

rotates from east to west and it is tipped over on its side

with an axial tilt of 98 degrees. So it has a highly tilted
rotational axis, as a result of which in its orbital motion
appears to roll on its side.

68. The speed of sound in air is 320 m/s. If the
wavelength of a sound wave is 640 cm, its time
period is
(a) 5 second
(c) 0.5 second

Ans. (d) : Given, v =320 m/s

A =640 cm = 6.40 m
Wavelength (L) = speed of sound (v) x Time peried (T)

o

Aqueous solution of which one of the following

oxides will turn blue litmus solution to red

(a) Copper oxide (b) Calcium oxide

(c) Sulphur dioxide (d) Magnesium oxide

Ans. (¢) : ® Acids turn blue litmus paper to red.

e Bases turn litmus paper from red to blue.

e Sulphur dioxide is non-metallic acidic oxide so,

sulphur dioxide will turn blue litmus to red. Because

non-metallic oxides are acidic in nature.

70.  Which of the statement is false in the context of

chromium plating?

Chromium is used for electroplating because

(a) It has a dull appearance

(b) It does not corrode

(c) It resists scratches

(d) It is expensive to make the whole object out
of it

Ans. (a) : Chromium metal has a shiny appearance and

it does not corrode.

e Chromium metal is quite expensive and hence it is
not economical to make whole object out of]
chromium.

e Chromium plating is done on many objects made of]
iron metal such as bicycle, handle bars, wheel rims,
motorcycle parts etc.

e Chromium resists scratches.

Hence, the statement (a) is false in the context of]

chremium plating.

(b) 2 second
(d) 0.02 second

6.40=320xT

6.40

T= =10.02 second
320

69.

71. Match the following processes of crop
cultivation in column A with the statement in
column B

Column A Column B

(a) Harvesting (i) Water falls drop by drop

directly near the roots

(b) Threshing (i) Growing different
crops alternately

(iii) Cutting of crops after
its maturation

(iv) Grain seeds separated

from chaff

@ (a)=(iv),(b)=(iii),(c) =(1),(d) = (ii)
(®) (a)=(iii),(b) = (ii).(c) = (iv),(d) = (i)
(© (a)=(iii),(b)=(iv),(c) = (ii).(d) - (i)
() (a)=(ii),(b) ~(iv).(c) - (iii).(d) (i)

Ans. (c¢): Harvesting- Cutting of crops after its
maturation.

Threshing- Grain seeds separated from chaff.

Crop rotation- Growing different crops alternately.
Drip system- Water falls drop by drop directly near the
roots.

72.

(c) Crop rotation

(d) Drip system

a

When human beings inhale oxygen during
respiration, which of the following movement
does NOT take place?

(a) The air is drawn in through the nostrils

(b) Ribs move out

(c) Diaphragm moves up

(d) Lungs expand

Ans. (¢) : When human being inhale oxygen during
respiration then following movements occurs—

(1) The air is drawn in through the nostrils

(2) Ribs move out

(3) Diaphragm moves downward towards the abdomen
(4) Lungs expand.

73.

Choose the incorrect statement about xylem.

(a) Itis a tissue.

(b) Itis a pipe-like vessel.

(c) It transports food and nutrient from leaves to
other parts.

(d) Transpiration produces suction pull in it.

Ans. (¢) : Xylem is a specialized type of vascular

tissues (pipe like vessel) created in vascular plants to

transport water and nutrients from the roots of plants to the

tip of leaves. In it, transpiration produces suction pull.

74.

You have made a pinhole camera and you
obtain the image of a distance building on its
screen. The image formed on the screen is

always:

(a) Real, inverted, coloured and highly
diminished

(b) Real, erect, coloured and highly diminished

(c) Real, laterally inverted, coloured and
diminished

(d) Virtual, erect, coloured and diminished

Ans. (a) : A pinhole camera is a simple camera that
does not have any lens but with a tiny aperture
effectively light proof box with a small hole in one side.
Light from an object passes through the aperture and
projects an inverted image on the opposite side of the
box, The size of image depends on the distance between
the object and the pinhole.

The image formed on screen is always real, inverted,
coloured and highly diminished.
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75.  Select from the following, a metal which reacts
with dil. H,SO,4 but does not react with dil. HCI
even on heating.
(a) Calcium

(c) Copper (d) Magnesium

Ans. (c¢) Copper does not react with dilute
hydrochloric acid (HCI) even on heating but reacts with
dilute sulphuric acid (H,SO,). Copper has more
reduction potential than hydrogen which means that
copper is less reactive than hydrogen. Hence it can not
displace hydrogen from non oxidizing HCI.

76. Consider the following statements
arteries
1. Arteries are the blood vessels which carry
oxygen rich blood from the heart to all
parts of the body at a high pressure
2. To ensure that the blood flows only from
the heart to other body parts, the arteries
have valves
3. The walls of the arteries are comparatively

(b) Iron

about

thin
The correct statement is/are
(a) Only 1 (b) Only 2
(¢) land 2 (d) 1and3

Ans. (a) : Arteries are blood vessels which carry
oxygen rich blood from heart to all parts of body at high
pressure.

e Usually arteries do not have valves but two arteries
originating from right and left ventricles have valves
to prevent back flow of blood i.e. to ensure that the
blood flows only from the heart to other parts of
body.

e Arteries have relatively thick muscular walls because
blood pressure in them is high and they must adjust
their diameter to maintain blood pressure and to
control blood flow.

77.

Consider the following characteristics of plants

1. Broad and flat leaves

2. Photosynthesis carried out by stems

3. Roots going very deep

4. Very little loss
transpiration

5. Cone shaped plants with sloping branches

The characteristics normally found in desert

of water through

78.  Consider the following statements

1. In photosynthesis solar energy is converted
into chemical energy.

2. In photosynthesis CO, and water are used.

3. In photosynthesis CO, is released and O, is

consumed.

4. In photosynthesis O; is released and CO; is
consumed.

5. Photosynthesis takes place both during day
and night.

The correct statements are

(a) 1,2 and 3 (b) 2,3 and 4

(¢) I,4and 5 (d) 1,2 and 4

Ans. (d) : Photosynthesis is the process in which solar
energy is converted to chemical energy in the form of
glucose.

e In Photosynthesis solar energy is converted into
chemical energy.

e During Photosynthesis in green plants, light energy
(solar) is captured and used to convert water, CO,,
and minerals into oxygen and energy-rich compounds
like glucose.

e In Photosynthesis CO, is consumed and O; is released.

e Photosynthesis occur only during the day when there
is the sunlight but plant respire through out the day
and night.

79.  Consider the following statements.

1. The small intestine is highly coiled and
shorter than the large intestine.

2. Small intestine receives secretions from the
liver and the pancreas.

3. Liver is the largest gland in the body which
secretes bile juice.

4. The pancreatic juice acts on vitamins and
change them into simpler forms

The correct statements are

(a) 1and 2 (b) 2and 3

(c) 4and 1 (d) 1,2 and 3

Ans. (b) : The small intestine is highly coiled and

longer than the large intestine.

e Small intestine receives secretions from the liver and
pancreas.

e Liver is the largest gland in the body which secretes

plants are bile juice.
(@ 1,2,4and5 (b) 2,3 and 4 e Pancreatic juice contains digestive enzymes that help
(c) 1,3and 4 (d) 2,3,4and 5 to break down of carbohydrates, proteins and lipids in
Ans. (b) : Characteristics of Desert Plants:- the chyme.
e Leaves are very small or reduce to spines and hence|||Hence, statement 2, and 3 are correct.
they loss very little water through transpiration. 80. Match the items of column I with that of
o Their roots grow very deep into the soil for absorbing column II
water. Column I Column II
o In desert plants the leaves are reduced to spines so the A. Penicillin L. Robert Koch
process of photosynthesis is carried out by the stem. B. Small pox vaccine II. Gregor Mendel
Note:- The trees in mountain habitat are usually cone- C. Fermentation IIL. Louis Pasteur
shaped having sloping branches because of this shape D. Bacillus Anthracis IV. Alexander
the mountain trees make the rain water and snow slide Fleming
off easily without damaging the branches and leaves. V. Edward Jenner
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(a) A-1V,B-V,C-1II,D-1
(b) A-1V,B-V,C-I,D-1I
(¢c) A-IV,B—I1I,C—1III,D-1I
(d) A-V,B—IV,C-1,D-II
Ans. (a):
A. Penicillin -
B. Small pox vaccine - (v) Edward Jenner

C. Fermentation - (iii) Louis Pasteur
D. Bacillus Antnracis - (i) Robert Koch.

(iv) Alexander fleming

81. Which of the following statement (s) is/are
individually true in respect of both magnetic
lines of force and rays of light?

A. They are theoretical constructs.

B. They are visual representations that help in

understanding physical phenomena.

(a) Only A (b) Aand B

(c) Only B (d) Neither A nor B
Ans. (b) Magnetic field lines are a visual

representation of the invisible lines of for a magnetic

field.

Magnetic field lines always begin from the north pole &

end at the south pole.

e Both magnetic lines of force & rays of light are

hypothetical constructs.

o The light emitted by a small localized source is

represented by a collection of rays pointing radially

outward from an idealized "point source".

82. Which of the following best explains the
concept of cognitive validity of a science
curriculum
(a) Focus on hands-on activities in curriculum
(b) Age-appropriateness of curricular materials
(c) Focus on continuous assessment
(d) Respect for constitutional value in curriculum

Ans. (b) : Cognitive validity of a science curriculum

requires the content, process, language and pedagogical

practices of the curriculum are age appropriate, and
within the cognitive reach of the child.

83. Which of the following should be the hall-

marks of a science curriculum at upper

primary stage as per NCF-2005.

(a) Science should be introduced as separate
disciplines like physics, chemistry and
biology.

(b) Science content should be regarded as a
diluted version of a secondary stage science.

(c) There should be a strict separation between
academic and vocational streams.

(d) Scientific concepts should be arrived at
mainly from activities and experiments.

Ans. (d) : Hall-marks of a science curriculum at upper
primary stage as per NCF-2005 are to Engage learners
in learning activities, science fairs, experiments and
project work, learners’ science congress, co-curricular
activities etc to promote curiosity, inquisitiveness &
creativity.

84. Which of the following strategies will NOT be

helpful in bridging the rural-urban divide in

Science Education?

(a) Reflecting rural life- styles in curriculum

(b) Dealing with issues like ‘food’ in the context
of an agrarian economy.

(c) Organising science camps and exhibitions at
cluster and block level.

(d) Basing rural school curriculum on relatively
simpler concepts.

Ans. (d) : Simpler concept doesn't help out in filling the

gap of rural-urban divide instead there should be

inclusive curriculum for students in which they learn the

same thing/concepts.

85. A teacher along with her class VII students is
trying to understand how plants grow. They
planted a number of tomato seeds at various
depths and at various places in their school
garden and took care of them. After some time,
they observed that a few seeds began to develop
as plants while others died out. The teacher
asked the students to use their observations
and think of the factors to due to which some
seeds could not develop. Which process skill is
likely to be developed through this exercise?
(a) Hypothesising (b) Predicting
(c) Classifying (d) Measuring

Ans. (a) : Hypothesising is an empirically testable
proportion about some fact, behavior, relationship, or
the like, usually based on theory, that states an expected
outcome resulting from specific conditions or
assumptions. The above mentioned situation depicts the
same definition.

86. Read the following paragraph
In 1822, a man named Alexis St. Martin was
badly hit by a shot-gun. The bullet had
seriously damaged the chest wall and made a
hole in his stomach. He was brought to an
American army doctor William Beaumont who
saved the patient but could not close the hole
properly and left it bandaged. He used this as
opportunity to see the inside of the stomach to
some gain an understanding about the process
of digestion?

Which of the following understanding (s) about

development of scientific knowledge is

conveyed in this paragraph

1. Science proceeds systematically according
to pre-determined steps

2. Science requires careful observation and
creative response to situations

(a) Only 1 (b) Only 2

(c) 1and2 (d) Neither 1 nor 2

Ans. (b) : According to this appropriate passage, the

understanding conveyed about the development of]

scientific knowledge is that ‘Science requires careful
observation & creative response to situations’.

Scientific knowledge 1is subject to revision and

refinement as new data, or new ways to interpret

existing data.
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87. Which of the following is NOT a desirable
practice in the context of teaching & learning
of science?

(a) Examples and insights from other subjects are
liberally used wherever required.

(b) Focus should be on getting the right answers
from students and not on their incorrect
responses.

(c) Free-play and open-investigations should be
given due importance.

(d) Local context should be used for enhancing
conceptual clarity.

Ans. (b) Establishing & maintaining classroom

environments that are learner centered-indentifying,

confronting, and resolving preconceptions, and

beginning instruction with what students know are some

of the desirable practices of for science teaching.

e Focusing on getting the right or wrong answer is in
context of memorization of subjects.

88. A teacher gives the example of flow of water
from high pressure in a water tank to low
pressure to explain the concept of potential
difference to her students. Which pedagogic
device is she using?

(a) argumentation

(b) analogy

(c) real artefact

(d) open-ended questioning

Ans. (b) :Teaching with Analogy is a learning model

that provides guidelines to build linkages between

something is already known and something new to learn
or learn abstract concept through other concept that
have learned before or daily life context.

89. A teacher is trying to introduce her class VII
students to different kinds of soil. She begins by
introducing the names of three kinds of soil i.e.
sandy soils, clayey soil and loamy soil. She
explains the properties of each soil in term of
its particulate nature. She then demonstrates
one sample of each kind of soil and shows the
students the difference in percolation rate of an

examples. How would you evaluate this

approach from an  inquiry oriented

perspective?

(a) It is an effective approach that encourage
inquiry.

(b) Demonstrating more soil samples would
make the approach inquiry-oriented.

(¢) It is not an effective approach for encouraging
inquiry.

(d) Asking questions in the end would make the

2. Oxygen is required for the burning of
candles.

(a) Only 1 (b) Only 2

(c) Both 1 &2 (d) Neither 1 nor 2
Ans. (a) : CO, molecules are heavier than air. Because
of this, they push the oxygen & other molecules in the
air out of the way as they sink down over the flame &
candle. When oxygen is pushed away from the wick, it
can't react with the wax anymore. This makes the flame
go out.

PART-III
LANGUAGE-I : ENGLISH

(Question Numbers : 91 to 99)

Read the passage given below and answer the
questions/complete the statements that follow
by choosing the most appropriate options out
of the given ones.

1. The term 'multitasking' originated as computer
jargon for the situation when the central
processing unit switches back and forth
between different programs. While the human
capacity for simultaneously handling multiple
tasks has been discussed and studied for
centuries, the book is for from closed on how
well we can or can't do it.

2. Let us look at a fairly common workplace
scenario; writing an email to one colleague,
while talking on the phone to another. As you
are talking, you have temporarily, put the skills
needed to type (spelling, grammar,
manipulating your fingers across the
keyboard) on hold. When you turn your
attention back to the computer, you then
suspended the etiquette of conversation (which
may leave your co-worker ask, "Are you still
there?"). So we are not really doing these
things another," says Pierre Jolicoeur, the
research  Chairperson in  Experimental
Cognitive Science at the University of
Montreal, Canada, who studies how the human
brain handles multiple tasks. "Task switching"
is probably a more accurate description, and
though the switch may occur in a fraction of
second, there is an associated task-switch cost,
the amount of time lost with each switch.

3. As we try to do more and more things in less
and less time, 'often error creeps in, we call

approach inquiry- oriented. that a speed accuracy trade-off", says

Ans. (¢) : The given situation is not an effective Jollcoeur." . ] .
approach for encouraging inquiry. It is teaching||21- ~The term "Multitasking means:
approach in which teacher his giving some particular (a) a skill to do a number of different tasks
information to students to learn about soil. It is a simultaneously
demonstration type of teaching. (b) a skill investing money in different profitable
90. ‘A burning candle gets put out after some time shares . .

of being covered with a glass jar.” Which of the (c) a J(}b in which you are posted at different

following inference can be drawn from the stations.

above observation? (d) difficulty faced by an individual in moving

1. Air is required for the burning of candle. from one task to another simultaneously
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Ans. (a) : The term 'Multitasking' means a skill to do a
number of different task simultaneously as it was
mentioned in the first stanza of the passage.

Hence option (a) is correct.

92. 'The book is far from closed implies :
(a) The debate is over
(b) the debate is meaning less
(c) the discussion is still ongoing
(d) the results of the discussion is still pending
Ans. (¢) : The book is far from closed implies
discussion is still ongoing. It was mentioned in the last
line of the first stanza.
Hence option (c) is correct.
93.  Your co-worker is forced to ask, ""Are you still
there?"
(a) Networking issue (b) Multi-tasking issue
(c) Lack of etiquette (d) Lack of interest
Ans. (b) : Your co-worker is forces to ask, "Are you
still there?" is a multitasking issue. It was mentioned in
the second stanza of the passage.
Hence option (b) is correct.
94. What, according to Pierre
'multitasking'?
(a) doing many different tasks within a very short
span of time
(b) accomplishing many different tasks within a
very short span of time.
(c) many people working on a particular task
simultaneously
(d) doing one task and then another almost
immediately
Ans. (a) : According to Pierre Jolicoeur, 'multitasking'
is doing many different tasks within a very short span of]
time. It was mentioned in the second stanza of the
passage.
Hence option (a) is correct.

95. Read the following statements. Errors creep in
when

(A) We do more things in less time because the
information which goes to our brain gets
all mixed up.

(B) The information which goes to our brain
queues up to be processed within the
fraction of a second

(a) (A)is true and (B) false

(b) (A) is false and (B) true

(c) both (A) and (B) are true

(d) both (A) and (B) are false

Ans. (b) : According to the passage, statement (A) "We
do more things in less time because the information
which goes to our brain gets all mixed up' is false while
statement (B) 'The information which goes to our brain
queues up to be processed within the fraction of a
second' is true as it was mentioned in the last lines of]
the second stanza of the passage.

Hence option (b) is correct.

Jolicoeur, is

96. In 'cognitive science' the word cognitive is used
as a/an
(a) adjective (b) adverb
(c) noun (d) verb

Ans. (a) : In 'cognitive science' the word cognitive is
used as an 'Adjective’. It means connected with the
processes of understanding (meb%eeveelceked).

Hence option (a) is correct.

97. 'Switch cost' in para 2 means

(a) time loss in each switch over process

(b) time gained in each switch over process

(c) calculation of cost of each switch

(d) process of multitasking
Ans. (a) : 'Switch cost' in para 2 means time loss in
each switch over process.
Switching costs are the costs a consumer pays as a
result of switching brands or products.
Hence option (a) is correct.
98. The word 'jargon' in para 1 means :

(a) magic (b) mystery

(c) idiom (d) explanation
Ans. (¢) : The word 'jargon' in para 1 means idiom.
Jaraon is used as a noun for some special or technical
words that are used by a particular group of people in a
particular profession an that other people do not
understand (IT&SITe).
Hence option (c) is correct.
99. 'put on hold' in para 2 implies

(a) turn your attention  (b) suspend

(c) handle (d) manipulate
Ans. (b) : 'Put on hold' in para 2 implies 'suspend'. 'Put
on hold' means to decide not to do change, or deal with
something now, but to leave it until later.
Hence option (b) is correct.

Question Number : (100 to 105)
Read the extract given below and answer the
questions/ complete the statements that follow by
choosing the most appropriate options out of the
given ones.
Baraj says with hands clasped, Master our days are
gone—
New men have come now, new styles and customs in
the world.
Don't ask anymore to listen to me now, I beg you
at your feet, my lord.
The singer alone does not make a song, there has to
be someone who hears;
One man opens his throat to sing, the other sings in
his mind.
Only when waves fall in the shore, do they make
a harmonious sound.
Only when breezes shake the woods do we hear
a rusting in the leaves.
Only from a marriage of two forces does music arise
in the world.

100. Who is Baraj?
(a) asinger (b) a courtier
(c) a court singer (d) a minister
Ans. (¢) : Baraj is a court singer as it can be easily
understood from the text.
Hence option (c) is correct.
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101. 'Our days are gone'. The speaker means to say
that:

(a) he has become old

(b) new people have come

(c) his listener have become old

(d) there are new fashions in singing now

Ans. (d) : 'Our days are gone' the speaker means to say
that these are new fashions in singing now. It was
mentioned in the first and second line of the text.
Hence option (d) is correct.
102. Study the following statements :

(A) In olden day Baraj had many admires

(B) Now people have developed new tasks

(C) A singer sings and listeners only listen

(a) (A)isright and (B) is wrong

(b) (B) is right and (C) is wrong

(c) (C)isright and (A) is wrong

(d) Both (A) and (B) are wrong
Ans. (b) : According to the text, statement (B) Now
people have developed new tasks' is right and statement
(C) 'A singer sings and listeners only listen' is wrong.
Hence option (b) is correct.

103. Match the following

(a) breezes (i) shore
(b) waves (ii) listeners
(c) singer (iii) woods

(@) (a) - (), (b) - (i), (c) - (i)
(b) (@) - (i), (b) - (iii), (c) - (1)
(¢) (a) - (iii), (b) - (i), (c) - (1)
(d) (a) - (iii), (b) - (), (¢) - (iD)

Ans. (d) :

(a) Breezes - (iii) woods

(b) Waves - (i) shore

(c) Singer - (i1) listeners

It was mentioned in the last line of the text.
Hence option (d) is correct.

104. 'from a marriage of two forces'

The figure of speech use here is ;

(a) Simile (b) Metaphor

(c) Personification (d) Symbol

Ans. (b) : The figure of speech used in the line 'from a
marriage of two forces' is metaphor.

Metaphor is a figure of speech that, for rhetorical effect,
directly refers to one thing by mentioning another. It
may provide clarity or identify hidden similarities
between two different ideas.

Hence option (b) is correct.

Ans. (b) : According to the text, statement (B) 'Cordial
relationship must exist between a singer and his
listeners' is right while statement (A) 'A king can
persuade his courtiers to enjoy a song' is wrong.

Hence option (b) is correct.

106. Productive vocabulary are
(a) words which we use when we listen to them
and read them
(b) words which we use when we listen to others
(c) words which we use when we read a text
(d) words which we use when we speak or write
Ans. (d) : Productive vocabulary are words which we
use when we speak or write.
Productive vocabulary/an individuals vocabulary as
defined by the words that he or she regularly uses, as
opposed to those that he or she can understand when
used by others.
It is also called active vocabulary.
Hence option (d) is correct.
107. What is India's language-in-school education
policy known as?
(a) Official language policy
(b) Multilingual education
(c) Mother tongue based multilingual education
(d) Three language formula

Ans. (d) : India's language in school education policy is
known as three language formula.

The three language learned by children will be the
choices of states, regions and of course the students
themselves. However, at least two of the three language
should be nature to India, one of which is most likely to
be the local/regional language. The rule will apply to
both private and public schools.

Hence option (d) is correct.

108. Drilling as a strategy for internalizing the
pattern is advocated by
(a) Communicating Language Teaching
(b) Audiolingualism
(c) Total physical response
(d) Constructivist language teaching

Ans. (b) : Drilling as a strategy for internalizing the
pattern is advocated by audiolingualisam.
Audiolingualism is a method of language teaching
inspired by behaviourism and based around the
repetition of correct sentences.

In audiolingualism, drills are used to faster the
formation of positive habits and focus mainly on the
presentation and practice of grammatical structures.

Hence option (b) is correct.

109. 'Scaffolding hypothesis' believes

105.  Study the following statements : (a) that social interaction provides the substantive
(A) A Kking can persuade his courtiers to enjoy means by which learning occurs.
a song (b) in teaching the same skill many times through
(B) Cordial relationship must exist between a various mean
singer and his listeners. (c) that learning vocabulary is essential for
(a) (A) isright and (B) is wrong language learning
(b) (B) is right and (A) is wrong (d) that interaction leads to developing
(c) Both (A) and (B) are right grammatical competence and language
(d) Both (A) and (B) are wrong learning
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